

# THE PUBLIC SCHOOLS IN 1950

# By E. M. WELLINGS

For the second year in succession it is pleasant to be able to write in optimistic vein about Public Schools cricket. It would seem that there was something in the claim made by the schools that in the early years after the war they suffered from getting boys from the preparatory schools who had been given no solid grounding in the game during the war years. That is not, however, the whole story, for, if a boy has any natural ability, neglect before the age of 13 or 14 cannot long leave its mark, provided that the subsequent instruction is good. Perhaps criticism in *Wisden* has played some part in persuading games masters to aim at a higher standard.

That criticism drew an article from one of those masters, J. D. Eggar, in last year's *Wisden*. It was a most admirable and fair piece of writing, which set out the difficulties of those who teach cricket at the Public Schools and made excellent suggestions. In several directions it seemed to supplement criticisms made in these columns during the previous two years. It was particularly encouraging to find that the men responsible for turning out Public School cricketers are not satisfied that more cannot be done to improve the standard.

English cricket badly needs some body of players to lead a revival. The word revival is often loosely used to mean a move forward. I use it in its true sense to mean a restoration of something we had in the past. Our cricket to-day is at a low ebb not so much because players do not know how to handle their bats, how to bowl the ball or to pick it up in the field; though the standard in those particulars may leave something to be desired, the main weakness lies in the fact that they do not know how to make use of their ability to do those things.

As a race of cricketers to-day our basic knowledge is low. Young players do not even know enough in many cases to keep to the position in the field in which they have been placed by their captains. They do not know enough to pay attention so that their captains can move them into new positions without fuss and bother. This is not meant as a specific criticism of Public Schools cricket. This was written in the evening after seeing half the fielders near the wicket clapping their hands to help their captain to attract the attention of a young professional standing at long leg. The team in the field was the M.C.C. touring Australia, the ground was Sydney, and the man who did not know enough to pay attention was a Test match cricketer.

The lack of elementary knowledge shown by players of such

eminence is proof positive of the need for revival. The Public Schools, armed with games masters and professionals who played their cricket when real knowledge of the game was common, can play a large part in such a revival. It is true that most from those schools cannot now go on to play much first-class cricket, but if they can take a thorough knowledge of the basic principles which govern the game into club cricket they can greatly help to improve the general standard.

Cricket cannot be learned in the nets. Batsmen can certainly be groomed in the nets, and bowlers can be taught how to deliver the ball in various ways. But without the knowledge of how to make full use of all they are taught in the nets they cannot become thorough cricketers. There have been distinct signs in the past two years that Public School coaches are turning out more knowledgable players. The field placing is more intelligent than in the first three years after the war. The running between wickets is better. The backing-up in the field is more often done. All of which suggests that the Public Schools really are well fitted to play a leading part in the necessary revival.

Much can be done during practice games to instil thorough knowledge into young cricketers. My experience from playing in such games while at school is that they are merely matches which lack the keen edge of rivalry. The coach probably umpires at one end and does what coaching he can without interrupting the course of the game. But why should it not be interrupted? Would it not be better to stop the game as often as necessary so that the coach or games master can really instruct? It is surely much better that all on the field should learn from the experience of a fellow player than that only he should be quietly told, between overs perhaps, where he went wrong or how he could have improved on what he did.

I am persuaded that the way back for us in cricket lies in the acquiring of larger and wider knowledge of the game by what I have seen of Australian school cricket, little though I have seen of it. There is very much less coaching in the Australian schools as we know it. None of them employ professional coaches. Yet the Australian schoolboy cricketer seems to have a very solid knowledge of his game. He knows what it is all about. He appreciates his part in the general scheme. At first sight he is obviously not such an elegant-looking performer as his English counterpart. He has not been groomed in the niceties of the forward defensive stroke, but he does seem to understand more quickly what the bowler is trying to do to him, and he has enough knowledge to work out his own salvation in a reasonable way. Speaking generally, I should say that he has a more robust approach to the game. He has developed his play more naturally and appears to be less inhibited.

Happily it can truthfully be said that English Schools cricket is becoming more robust. I noted in 1949 the more aggressive spirit that was abroad, and it was so again in 1950. The representative side at Lord's was fortunate to have the leading batsman of the previous year still available. M. C. Cowdrey of Tonbridge was a fine player in 1949. He was an even better one in 1950, a stroke player of exceptional skill among schoolboys. It is usually a risky proceeding to take a youngster straight from Schools cricket and push him into his county side. That Kent could do this with Cowdrey without apparent risk to his future development fixes his status among boy cricketers.

We have now seen two unusually gifted schoolboy batsmen in the five post-war years. The other was P. B. H. May of Charterhouse, who was in the Cambridge side of 1950 and appealed to me as the University batsman likely to go furthest, though the Test selectors evidently preferred the look of G. H. G. Doggart, J. G. Dewes and D. S. Sheppard. I would not attempt to say who of May and Cowdrey was the better as a schoolboy batsman. They both had the makings of top-class players, and Cowdrey has the chance to go just as far as May. I only hope that, because he is such a fine batsman, he will not be persuaded to give up his legbreak bowling. There is no reason why he should not continue as an all-rounder.

Cowdrey was not the only good-looking batsman of 1950. Another who played in the two representative games in 1949, Stewart of Alleyn's, had also made notable progress. When he first played in those games—and played with considerable success he was largely an off-side batsman. His stance was so ultra square that often he could not get himself round to the leg side ball in time to deal with it. In the intervening year he adjusted his stance and turned himself into an all-round-the-wicket player. He revealed good strokes in all directions, and his general skill was such that in several seasons he would have been considered the leading batsman of his year. Stewart should regard being second to such a fine batsman as Cowdrey a more honourable position than number one in a lean year.

Curiously, another who played at Lord's in both matches in 1949, Silk of Christ's Hospital, had also revised his game in the interval. Formerly his stance was directly opposed to Stewart's, for his left foot was withdrawn so far towards square leg that his position permitted him to employ no force at all on the off side. He gained his place in the Public Schools team against the Combined Services as a stone-walling opening batsman. He did not again win a place, but by August 1950 he was well on the way to becoming a stroke-making batsman, for he had closed his stance and was thinking in scoring terms instead of being concerned mainly with propping up an end. Another young player who compelled attention at Lord's was Smith from Manchester. He was an all-rounder, though he appealed to me mostly as a bowler, for he certainly has the appearance of a coming fast bowler. His run to the wicket was strikingly smilar to that of Pollard, whom he has surely studied often at Old Trafford. At the wicket the similarity ceased. He had his own action, and it was a good one. He was more square to the wicket at the moment his back foot landed behind the crease than was Pollard, and hence there is the possibility of greater speed when he fully develops his strength. For a boy he was emphatically fast in 1950, and it is greatly to be hoped that he will be able to continue his cricket in good company.

Space does not permit detailed analysis of the others who played in the representative games. They have their niche in the following pages. The standard generally was at least up to that of 1949, the year when the decline was arrested and the upward movement began. Some of those who were rejected for the final Public Schools team would have been greatly welcomed a couple of years earlier. In general terms the Southern Schools appeared stronger in batting and the opposition had more bowling strength with which to test them. There was also continuing improvement in the inter-School matches, and before leaving I must mention again the great job Jim Hammond, formerly the Sussex all-rounder, has continued to do at my old school, Cheltenham. He took over when they were in the dumps, immediately revived them, and in 1950 they again beat Haileybury most convincingly at Lord's. Hammond is one who is infusing robust spirit and genuine cricketing knowledge into boy players, and he is not alone in that western area, for Marlborough and Clifton cricket is also in a healthy state.

# THE SCHOOLS

# (Scottish Schools will be found at the end of this section.)

After losing their first two matches, Aldenham College developed into a well-balanced and effective combination and suffered only one more defeat. Many good victories were gained. J. G. Joel and J. L. Renwick nearly always gave the innings a good start and other forceful batsmen, T. J. Law and J. R. Heron, followed. Although the side possessed only three good bowlers—J. E. Kentish (off-spin), R. H. M. Arkell (slow left-arm) and J. M. Helder (fast left-arm)—their efforts were usually sufficient. Law, the captain, kept wicket well.

With six old colours, Alleyn's School again enjoyed a highly successful season, winning twelve and drawing five of nineteen matches. Although rain frequently brought difficult pitches, M. J. Stewart and J. F. Pretlove batted consistently well. Pretlove was also the spearhead of a well-balanced attack in which he received best support from D. A. Palastanga, also fast-medium. Stewart, in his second year as captain, set a grand example in the field and again earned a place in the Schools' side at Lord's.

The chief problem which confronted K. G. Hutchings, the Allhallows School captain, was to find a reliable partner with whom to open the innings. Not until the last match of the season, when Hutchings and W. P. Thurgood made 170 together, did the school begin with an encouraging partnership. Then, as on many other occasions, the subsequent batting collapsed completely, only one other batsman reaching double figures. The bowling, with K. F. Keightley and R. Taylor specially prominent, was more effective but the side would have benefited by the inclusion of a good new ball bowler. Four of the fourteen matches were won and three lost.

Ampleforth College again possessed a strong team and if the weather had been more lenient their victories would almost certainly have numbered over five. Of the remaining matches five were drawn and two lost. P. A. Mitchell, the captain, and M. J. Tate were the best of a penetrative attack and Tate distinguished himself at Lord's by taking seven Southern Schools wickets with slow spinners. Every member of the side was capable of making runs.

Beaumont College began indifferently with three draws and two defeats then struck their best form and won their next five games. Although P. A. Dingli, the captain, did not bat so consistently as in 1949 he made many valuable scores and he received plenty of spirited support. In A. B. Wallerstein the team possessed one of the best schoolboy bowlers of the year.

With a strong all-round team, **Bedford School** proved a match for any other school side. The main virtue of the eleven lay in the wholehearted fielding which supported the cleverly-handled spin attack of M. H. J. Allen and R. L. Cartwright. Allen, left-arm slow, represented Public Schools at Lord's and was invited to assist Bedfordshire during the holidays. Although there was no specially brilliant performer, the batting was solid and even the "tail" could be relied upon for runs. C. D. Miller and M. S. Meeson took chief honours.

The splendid batting of R. A. Gale provided the chief feature for **Bedford Modern School** who won four matches and drew the remaining six. Gale, a tall left-handed opening batsman with unbounded confidence, never failed to reach double figures and he maintained his form when chosen for Bedfordshire. Gale also excelled with cleverly-flighted off-spin bowling. The captain, P. G. Miller, made his runs convincingly and he too earned a place in the county side. Besides Gale, two fast-medium bowlers, M. G. Cave and K. Tait, bowled steadily. The fielding was often brilliant and always good.

Berkhamsted School possessed a better team than the record of two wins, five losses and six draws indicates. The school failed against strong club sides but might have won four matches that were left undecided through rain or lack of time. A. J. Birrell, a resourceful captain, batted confidently but apart from the opening pair, D. F. Severs and N. H. Mills, the remainder were unsound. The bowling of W. Wace and R. P. Denny was steady and reliable.

The **Bishop's Stortford College** record of two wins, six losses and five draws gives a false impression of their ability. Five of the undecided games were in favour of the College and after a discouraging start the side played bright and enterprising cricket. M. H. Bull handled his bowlers well and inspired a high standard of fielding. This lightened the task of D. T. Kilian and C. W. Nighy (medium-paced) and K. A. Bines. The batting did not come up to expectations although C. I. M. Jones and P. G. Collett were sound.

Although Bloxham School possessed only one really good batsman in their captain, R. F. De Lattre, the strength of their attack enabled the team to win four and draw three of the thirteen matches. D. J. Maisey (fast medium left-arm) and A. J. Lord both

swung the new ball late and effectively and R. Law bowled left-arm slows intelligently. M. A. Scott-Smith proved more than adequate as a stock-bowler. The standard of fielding, low at first, improved steadily.

J. M. Bedford, the Blundell's School captain, proved one of the best for many years. Previously regarded only as a left-arm slow bowler, he converted himself into an opening batsman with such success that, in the absence through illness of D. J. Hollands for most of the season, he became the team's leading scorer. His handling of the side, both on and off the field, was exemplary. Another greatly improved batsman was R. J. Russell but T. R. Newell-Price was disappointing. When Hollands resumed, his slow leg-breaks added welcome variety in attack. Four matches were won, three lost and five drawn.

In their centenary year, **Bradfield** College fittingly enjoyed one of the most successful seasons in their history. In fifteen matches the side claimed seven victories, five honourable draws and three defeats—one by only seven runs. The leading personality was the captain, C. J. Lee, whose excellent all-round cricket won him a place in the Public Schools' XI at Lord's. Few schools managed to master the bowling of Lee and M. Blanford (medium-paced) and P. P. Short (off-breaks), and several were dismissed for very low totals. The fielders supported well and few chances were missed. Lee hit centuries against Radley and Stowe and was only eight short against St. Edwards. J. I. Quarrington and M. E. Taylor also batted consistently.

Due mainly to a reliable and assorted attack, Bradford Grammar School did well in winning five and drawing five of their eleven fixtures. A. S. Fox, the captain, set his colleagues a splendid example of keenness with the result that a side of average players developed into a really sound team. Fox and G. W. Moore carried the batting and the best bowlers were J. D. Waterhouse (off-spin) and B. Petyt (medium-paced).

Under the leadership of R. G. Sharpe, Brentwood School recovered so well after losing four matches in May that of the remaining twelve fixtures six were won and six drawn favourably. The batting was solid and apart from G. W. Horrex—a stylish opening bat—five others played at least one innings of 50 or over. Splendid work in the field made the attack more effective than it might have been for, until J. B. Meehan (fast-medium) came into the side in the last few matches, the bowling looked steady rather than hostile.

Brighton College had a successful season with wins over six other schools against a defeat by Lancing. The side also distinguished itself by holding an M.C.C. team, which included Denis Compton, until the last over of the day. A. B. D. Parsons was again the most promising batsman and I. J. Glassborow began the season in grand style. Most of the side were capable of making runs but the bowling depended too much upon the fast-medium pair, P. Kemp and J. S. Gibson. Kemp, in his fifth year in the eleven, played for Southern Schools at Lord's.

**Bromsgrove School** did not do themselves justice, admirable outcricket often going unrewarded because of uncertain batting. Yet, on other occasions, the batsmen showed that the talent was there by compiling impressive totals against good opposition. The main fault was lack of confidence and enterprise. N. T. Sisson, a lively opening bowler, handled his attack intelligently and achieved good results from his spinners, J. B. Wilson and J. C. East, and J. Faull (medium-paced). The fielding, generally, was very good. Four matches were won and six lost.

Bryanston School played thirteen fixtures of which one was drawn, one lost and eleven were won—two off the last possible ball of the day. Most credit for this excellent performance went to three all-rounders, T. J. Sankey, J. Harrison and the captain, J. W. Drawbell. Drawbell led his side enthusiastically and showed rare judgment in the field. Only three schools made over 100 against an accurate and varied attack and only twice was the team all out. With half the side available again, prospects for 1951 looked good.

P. B. C. Emby, the Canford School captain, began the season with only one old Colour beside himself and, although one or two promising players were found, the team lost six and drew five of their twelve matches. Curiously, they fared better against adult club teams than against other schools. B. L. G. Kenny batted consistently and M. A. Budd did most of the bowling.

Charterhouse School, under the captaincy of J. W. H. May, enjoyed a moderately successful season gaining four wins and three draws from twelve matches. Besides his capable leadership, May proved the leading batsman and a useful bowler. He hit two centuries. Other batsmen were inconsistent, though C. H. W. Robson and M. R. P. Young showed special promise. C. M. Chadwick and S. Stevenson bowled well.

After losing their first school match against St. Edwards, the experienced Cheltenham College team developed under the cap-

taincy of D. M. Richards into one of the best of the year. Malvern, Repton, Clifton, M.C.C. and Haileybury—at Lord's—were among the sides beaten and the only other defeat came after a stirring struggle with Free Foresters. Rain again spoiled the Marlborough match. The formidable fast-medium trio of Richards, J M. Blackburn and D. G. Mee received grand assistance from H. R. P. Thompson, who gained considerable success in his first season as an off-spinner. Apart from Richards, who was chosen for the trial match at Lord's, the batsmen lacked something in technique but this was offset by the determination and enterprise which characterised the team's work throughout.

D. R. W. Silk, the **Christ's Hospital** captain, again showed all-round ability far in excess of his colleagues and for the second successive year he was selected to play for the Schools at Lord's. With A. Joanes, another accomplished batsman, Silk shared in many prolific opening stands and his leg-break bowling brought him more wickets than all his team-mates combined. With so much dependent on Silk and Joanes, the team was unbalanced but three matches were won, three lost and three drawn. Silk will be at Cambridge in 1951.

On paper, the Clifton College team was the strongest for many years, yet their record of two school matches lost (against Cheltenham and Tonbridge), two won (Sherborne and Rugby) and one drawn (Marlborough), was only moderate. On both occasions when they were beaten, the batting, usually solid, broke down. R. V. Turner's leadership and stylish batting earned him the captaincy of The Rest at Lord's. M. B. Foyle, a left-hander, and R. P. Rankine, a very capable wicket-keeper, batted well but bowling was the main strength. A. J. Smith (leg-breaks) performed the feat of taking all ten wickets in an innings against Sherborne. and J. C. Rees (off-breaks) also excelled. The fielding was always good.

B. B. Moore led the well-balanced Cranbrook School team to victories in four of the eight inter-school fixtures and to a splendid five wickets win over M.C.C. B. H. Wardle (fast-medium) formed the spearhead of a good attack which was supported by some brilliant work in the field. The batting proved solid rather than spectacular. A. R. C. Galpin had six of the eleven available in 1951.

Such was the enterprising character of Cranleigh School cricket that the team was not concerned in a draw until rain ruined the last match of a successful season. Much of the credit for this was due to J. Inglis, a resourceful captain and wicket-keeper of above average skill. Two of the four defeats were suffered when

Inglis was away injured. Seven games were won and one ended in a tie. N. A. Paul headed both sets of averages and J. W. Clements improved considerably with the bat.

A reverse in the last match of the season prevented **Culford** School from claiming an unbeaten record in inter-school fixtures. Nevertheless, the batting was not sufficiently enterprising to enable the side to fulfil expectations. A worthy successor to T. G. M. Keall, the 1949 captain, was found in D. A. S. Plastow who shared the batting honours with J. S. Hercock. F. N. Fenning and J. B. Kirch bowled particularly well on hard pitches and D. Beech showed promise as a spinner.

**Dean Close School** won three and lost two of their twelve fixtures—a satisfactory record considering the absence of reputable middle batsmen. The bowlers, particularly M. D. Moran, played their parts well and J. Stanley-Smith, the captain, set a good example in the field. The standard of cricket benefited considerably from the coaching of F. R. Santall, the former Warwickshire player, who died during the winter.

Rain interfered so seriously with the Denstone College fixturelist that only four of the ten matches were finished. Two were won and two lost. The side were fortunate to possess such a talented batsman as M. J. Amps who rarely failed to make a good score but the attack proved only moderate. D. E. Cook's bowling suffered through his trying to fill the double-role of new ball and spin bowler. The left-arm bowlers, W. G. Tobias and J. R. F. Curry, were steady.

The Dover College record of three wins and six defeats from eleven matches represented a considerable improvement compared with 1949. O. G. Haydock-Wilson led the side well but he was handicapped by the unreliability of his reputed batsmen. A new member of the team, R. R. Bairamian, enjoyed the distinction of heading both sets of averages and with six colours, including Haydock-Wilson, remaining the outlook for 1951 was brighter.

Although **Downside School** gained only two wins from ten games the side possessed three especially promising cricketers. They were R. St. J. Jackson and E. A. McGuire, both hard-hitting middle batsman, and R. J. Adamson, a polished batsman and good off-break bowler. Apart from Adamson the attack proved disappointing. Of the opening bowlers, M. L. Berger was often erratic and J. Lomas seldom beat the bat. Another spin bowler Was needed.

Forced to find an almost entirely new team **Dulwich College** drew eight of their thirteen fixtures and won only two. The bowling was very weak but A. C. Warren showed remarkable improvement with the bat and he played several excellent innings. In the following autumn, G. Higgs, the captain, hovered between life and death after his neck was broken while playing rugby.

**Durham School** were unable to find a pair of reliable opening batsmen and as a result the side seldom made a good start. T. Bourn ran into form late in the season when he atoned for earlier failures with several splendid innings. In attack Durham depended mainly upon T. P. Mitcalfe, a promising medium-paced bowler. Five of the sixteen matches were won and six lost.

Eastbourne College felt keenly the lack of a reliable fast-medium bowler and sound middle batsmen and were unsuccessful in school matches. Nevertheless M.C.C. were beaten for the first time in thirty-three years. Two players showed distinct promise. They were I. G. Watt, a slow left-arm bowler who flighted and spun the ball cleverly, and C. J. G. Harding, a batsman with a wide range of strokes. Watt captains the side in 1951.

Slow scoring by younger members of Eltham College was responsible for many of the five drawn matches not being won. The team was successful in three of the remaining six fixtures. An injured left shoulder handicapped P. D. Bairstow, the captain, but his right-arm out-swing or off-spin bowling again brought him plenty of wickets.

Including three old colours, the young Epsom College team rarely did themselves justice and four matches were won, three drawn and six lost. The batting of D. A. Music and B. O. Walpole was particularly good but needed stronger support. D. A. J. Cartwright (leg-breaks) and D. A. Fenner (slow left-arm) both spun the ball and kept a useful length. The captain, J. S. Hall, provided pace.

Unbeaten in school matches, Eton College would have been a very good side but for a tendency to drop vital catches. The ground fielding was good and J. S. Guthrie placed the field intelligently yet too many chances failed to stick. The bowling depended mainly on the leg-breaks and googlies of R. V. C. Robins, son of the Middlesex captain, who dismissed several distinguished batsmen. He was best supported by Guthrie (off-breaks) and the opening pair, N. C. Wadham and P. L. Eckersley who might, however, have made more use of the new ball. After carrying the

## Public School Cricket in 1950

batting in the first few matches, A. C. D. Ingleby-Mackenzie and M. D. M. Sellar lost form to some extent. B. C. Gordon Lennox and D. C. Watney showed stamina and concentration and the side possessed fierce hitters in P. A. Metaxa, J. D. Montagu and Wadham. Altogether four matches were won, two lost and four drawn. The game against Marlborough ended in a tie.

**Framlingham College** bowlers lacked hostility and, though including five of the successful 1949 eleven, the team did not fulfill expectations. Five matches were won, six lost and three drawn. In school matches, however, they were unbeaten. There was no reliable pace bowler to support the spin of C. M. M. Ford, the captain, and M. N. Hawkes, though keen fielding helped to keep down runs. J. Ives showed enterprise with the bat.

Giggleswick School won only one match, drew five and lost three. Their chief weakness was the almost complete dependence in attack on two fast-medium bowlers, S. J. Hanscombe and G. A. Briggs, who did not receive the support they deserved in the slips. The batting was fairly strong. B. Parsons and B. Horn seldom lost their wickets cheaply and M. J. Hartley was a hardhitting opening batsman. The captain, T. D. Wilson, performed splendidly in the field but his colleagues did not always profit by his example.

Despite reliable batting and smart fielding, Haileybury and I.S.C. could not overcome their bowling weakness and lost seven of their fourteen fixtures (five drawn). V. F. Browne, the captain, again showed all-round ability and D. H. Bicknell, a hard-hitting batsman, improved considerably as the season progressed. M. A. Thomas batted well and was often brilliant in the field but his bowling disappointed. P. J. C. Smallwood maintained his promise with the ball.

Harrow School enjoyed their best season for many years. Seven of the fourteen matches were won and the only defeat was by M.C.C. who won by one wicket on the stroke of time. The main strength of the side lay in the new ball attack of the captain, R. A. Jacques, and M. Kok who nearly always wrested the initiative from opposing batsmen. Between them they took over 100 wickets. Jacques, in his fourth year in the team, claimed 57 wickets at little over 11 runs apiece. J. W. E. Bleackley, captain in 1951, was the most consistent batsman. He possessed the determination needed to make full use of his wide range of strokes. J. D. Thicknesse, W. J. Foster and B. C. G. Wilenkin also batted well.

714

Under the captaincy of W. Knightley-Smith, Highgate School enjoyed a moderately good summer, winning four and losing six of their sixteen fixtures. Knightley-Smith, an attractive left-hand batsman, scored heavily and earned a place in the side against Combined Services at Lord's as well as inclusion in the Middlesex Second XI. R. M. Griffin, another left-hander, gave best support. J. C. Dare, a dependable off-break bowler, and I. E. M. Clifford worked hard in attack but the fielding was often disappointing.

G. L. Hill, the Hurstpierpoint College captain, devoted the early part of the season to team-building and match results were not impressive. Nevertheless, the side improved considerably and three games were won, seven lost and four drawn. Although he made no big scores, T. W. Palmer seldom failed completely with the bat and the team possessed useful bowlers in N. F. R. Marsh and R. M. James.

Although only two old colours remained, King's College, Taunton produced a promising team under the able leadership of P. A. B. Dean. Four matches were won, four lost, one tied and another drawn. D. B. Gosheron and J. Hunter-Watts gave solidity to the middle batting and twice shared in stands of over 100. Dean bowled off-breaks consistently well and N. S. Bathurst revealed talent as a leg-break bowler.

Winning seven of their ten matches, the well-balanced King's College School, Wimbledon, team enjoyed a more successful season than any since the war. The batting, with M. F. R. Curry prominent, was consistent and the out-cricket was usually of a high standard—although inclined to wilt under heavy punishment. J. Wood, the captain, and Curry were the best bowlers. Seven of the side remained for 1951.

King Edward's School, Birmingham, had an encouraging season considering their youth and performances generally augured well for 1951. Five matches were won, five lost and nine drawn. The sound batting of A. J. Homer, who headed the averages and scored a fine century at Solihull, and of P. A. Gough, was frequently negatived by the uncertainty of the middle batsmen. The attack was steady if not formidable, with J. Hutchings (mediumpaced off-breaks) and D. H. Benson (slow leg-breaks) always prominent. Fielding lapses lost advantages early in the season.

King Edward's School, Stourbridge, were indebted to a specially effective set of bowlers for their record of eight wins, three losses and a draw. B. F. Fieldhouse shouldered the main responsibility and he well deserved his impressive figures. The best batsman was E. Barrett.

## Public School Cricket in 1950

With the majority of the successful 1949 eleven available. King's School, Canterbury were again too strong for most opponents, Six matches were won, five drawn and two lost. The batting was specially powerful. R. O. A. Norris, P. J. Walker and the captain, B. E. Lee, all scored freely and they received splendid support. The bowling was well-assorted, J. B. Phillips, a young seam bowler, again taking most wickets.

King's School, Ely, confounded all expectations. On previous form the bowling seemed strong and the batting poor, yet throughout the season the batsmen worked splendidly to offset the failures of their attack. M. H. Boorman, P. Leach, R. M. Ray and the captain, J. N. Wagstaff, were most consistent. Of the bowlers, only J. V. Gowler and P. Thorpe touched their form of the previous summer. Four matches were won, four lost and five drawn.

King's School, Rochester, were more successful than anticipated, winning four and losing two of the eight school matches. Most credit for this satisfactory record went to S. J. Robbie, who took nearly 50 wickets at moderate cost, and to the batting of the captain, G. R. T. Kingston, and J. D. Charlton. The fielding was better than during the past few years. Kingston improved his captaincy as the season progressed and used his bowlers with confidence. A general fault in the team was lack of footwork in playing spin bowling. Seven members of the eleven, including the captain, were available for 1951.

With ten old colours available, **Kingswood School** anticipated a highly successful season. In fact the side suffered only one defeat by a school but lost four club matches. Four games were won and three drawn. The team's three major weaknesses were the inconsistency of the batsmen, the inaccuracy of the quicker bowlers and erratic throwing-in. Nevertheless, they always played attractive cricket under the captaincy of K. J. H. Brown. N. F. Lockhart fully maintained his promise as a left-handed opening bat and J. G. Smith's leg-breaks were effective.

The most encouraging feature of the Lancing College team, who won five and lost five of their thirteen fixtures, was the consistently high standard of the fielding. In this respect, the captain, N. G. Williams, set a splendid example. The bowling, dependent mainly on Williams, was well-suited to soft pitches and in J. K. Hall the team possessed a fast bowler of great promise. Although the batting was patchy, the side usually made a respectable total. A. G. Cochrane was the leading scorer. S. Sydneysmith, captain in 1951, will be assisted by eight players with First XI experience.

716

Judged solely on results, Leeds Grammar School, with five wins, six losses and four draws, fared only moderately. The side was young, however, and several players showed real promise which should materialise when experience brings added confidence. T. A. Balmforth and S. G. Metcalfe showed themselves to be already polished batsmen and J. G. Raybould, a left-hander, hit the ball with refreshing vigour. D. B. Hufton handled his bowlers well. D. C. Duncan (fast-medium) and J. Boyd (left-arm mediumpaced) were impressive.

Until L. S. Wilson was tried as a spin bowler, the Leighton Park School attack lacked variety, yet few opponents mastered it. Seven of the thirteen matches were won and three lost. Although erratic, J. A. Parry frequently produced a really good fast delivery and two medium-paced bowlers, D. H. Simmonds and C. N. M. Taylor, were reliable. For runs the side depended almost entirely on D. G. Taylor whose consistency was remarkable.

Leys School gained four wins and four draws from thirteen games, a considerable improvement compared with 1949. I. S. Governor and E. M. Blenkinsopp lent solidity to the batting and R. G. Owain-Jones and N. R. Nesbitt also played useful parts. Although varied, the attack was not really penetrative. D. J. W. Thomas was erratic with leg-breaks and googlies and M. T. Marsden did not maintain the form which brought him 19 wickets in the first three games.

Rain interrupted so many matches that the young Llandovery College side failed to settle down properly and only one match was won out of thirteen. Nevertheless, four of the seven drawn games found the team in a commanding position at the close. D. H. Williams, a capable captain, and D. J. Harrett batted well, O. M. Howell played one excellent innings and P. J. Y. Scott showed great improvement. Williams and D. I. G. Taylor were hostile opening bowlers but the lack of effective spinners handicapped the attack.

Malvern College, with a very useful all-round side, would have earned a more impressive record if there had been more time and less rain in some of their games. As it was, six were drawn, four lost and only two won. The captain, A. A. Gregory, D. W. T. Brough and J. O. Rust formed the nucleus of a strong attack which was supported by keen work in the field. R. H. Chadder, a stylish opening batsman, was consistent but other promising batsmen, notably Rust and A. A. Dowdeswell, did not find their best form until July.

## Public School Cricket in 1950

D. A. Whitworth, the Manchester Grammar School captain, tackled his team-building problems so successfully that the side gained twelve victories and was beaten only once. The chief concern was to replace the pair of opening bowlers who had been in the team for four years. A. B. Shelmerdine and A. J. Dover took over these duties with such efficiency that the attack again proved the main strength of the side. E. J. Cuerden was the best of the slower bowlers. The admirable team-spirit which Whitworth inspired was reflected in the batting which was consistent and not dependent upon any particular individual.

Although the Marlborough College record of two wins, and four defeats from fourteen games was unimpressive, the team went through the season unbeaten by a school side. They beat Winchester, played an exciting tie with Eton and drew with Wellington, Sherborne, Clifton, Cheltenham and Rugby. In each case Marlborough appeared to hold the initiative. The main weakness was the middle batting. O. P. Hudson and R. C. Keightley were a sound opening pair. N. M. Morgan and M. F. Pope made good use of the new ball and W. J. Pinney and J. A. Kidd were effective spinners.

Undefeated in inter-school games, Merchant Taylors' School, would have gained many more than four victories if they had been better favoured by the weather and had shown more aggression in all departments. J. G. K. Ingram, the captain, did well both as batsman and bowler but the main feature was the excellent batting of P. F. Jackson. R. C. Snelling, who came into the side late, immediately proved his worth as a leg-break bowler and he easily headed the averages.

Had Mercers' School bowling been as enterprising as the batting they would have won more than three of their fifteen games. No fewer than eleven were drawn. Useful totals, for which L. C. Johnson, R. V. Lord and M. H. Spink were mostly responsible, were too often followed by steady, but innocuous bowling. The fielding reached a high standard.

Under the capable leadership of J. Roberts, Mill Hill School met with moderate success claiming two wins and three defeats from ten games. Roberts took chief honours with both bat and ball and D. H. R. Salter played many valuable innings. M. G. Williams showed promise as an off-spin bowler and A. M. Micklem was unlucky not to take many more wickets. J. Grimberg, a useful wicket-keeper, leads the eleven in 1951.

Z

The Mount St. Mary's College batsmen frequently disappointed but the side did well to win five and lose only two of eleven games. The opening pair, T. J. Bateson and J. H. E. Adams, excelled in a stand of 152 against Trent but they failed to reproduce this form and the captain, J. F. Power, seldom revealed his full talents as an attacking batsman. P. B. Wrigglesworth, with off-breaks, did most of the bowling and he was well supported by the new ball pair, M. D. Maxwell and J. P. F. Veys.

Newcastle Royal Grammar School again possessed a strong and well-varied attack but the batting was less reliable. The captain, D. R. Lowther, did not find runs so easy to obtain as in 1949 and of the remaining batsmen only W. B. Lowther and R. R. Pearson accomplished much. R. I. Franks (fast-medium), P. E. Forster (slow left-arm) and D. R. Lowther (medium-paced offbreaks) were the most successful bowlers.

Oakham School lacked the bowling strength to dismiss most opponents with the result that of the fifteen matches played seven were lost and the same number drawn. P. R. Forman displayed good all-round form and M. J. H. Williams frequently batted well but their support was negligible.

Although injuries kept one old Colour out of the Oundle School team throughout the summer and limited the appearances of A. J. P. Woodhouse to two, the team played as well as any since the war in winning four and drawing five of twelve matches. F. S. Price was again the mainstay of the batting which, however, lacked solidity. The chief strength lay in attack, A. R. Armitage and C. M. Lowe—both fast-medium—and J. M. Pickard (offbreaks) sharing the honours.

With better batting support for B. S. Adams, Perse School would have won more than seven of fifteen matches. Six were lost. Adams developed into an exceptionally reliable batsman and could be dogged or aggressive as the situation demanded. He was instrumental in three of the wins gained against declarations. The attack needed good spin bowlers but C. B. Gadsby and R. A. Neaves did well.

Particularly strong in batting, Radley College were again undefeated in school matches and altogether the side earned six victories and five draws compared with three losses. Most of the batsmen made their runs quickly, the best stroke-players being the captain, J. de C. Hughes, and J. R. M. Britten. Two young newcomers to the team, E. R. and J. D. Dexter, showed exceptional talent. In three years Radley have lost only one of eighteen interschool fixtures. **Reading School** often lacked ability to press home an initial advantage and did not fulfil the promise shown early in the season. Five matches were won, six lost and six drawn. J. C. Rudd, the captain, outshone his colleagues as a batsman and he received scant support. The need for a good pace bowler was often marked although Rudd and R. A. Bissolotti (slow left-arm) worked hard in attack. Both suffered from missed catches.

Although the **Repton School** record of two wins, five defeats and seven draws was unimpressive, the team played bright, enterprising cricket under the skilful leadership of A. C. W. Lewis. An admirable victory was gained over Shrewsbury but the Cheltenham match was lost and the other three school fixtures were undecided. Lewis was the best of a sound batting side in which D. H. Popham also did well. The bowlers, unreliable at first, improved steadily. Lewis and R. J. Howling formed an effective opening pair and were well supported by J. F. M. Walker and W. H. M. Pyne. The fielding, however, was not as good as in previous years. Lewis and seven of his side remained for 1951.

As in 1949. Rossall School were able to field probably the strongest side of any school in the country. Under the inspiring leadership of G. P. Marsland, they won eight of their fifteen matches and again were undefeated. Only once was this record endangered -when Shrewsbury were permitted to recover and gain the initiative after being led on the first innings. The strength of the batting could be judged by the fact that G. E. Smith, the No. 11 batsman, had only one innings throughout the summer. I. A. Rhodes, an aggressive left-hander, M. E. L. Melluish, a stylish No. 1, K. V. Holmes, his left-handed partner, and Marsland all played several excellent innings and the bowling was equally strong. Marsland, who played for The Rest at Lord's and led Young Amateurs of Surrey after term, opened the attack with B. R. Fox, an economical in-swing bowler, and could then call on S. L. Watson (off-breaks), M. J. M. Collinge (medium-paced), W. Nabb (leg-breaks) or Smith. Apart from the Shrewsbury match, few chances were missed in the field. Four colours remain for 1951 when Melluish will lead the side.

**Rugby School** possessed few recognised batsmen and were further handicapped by illness and injury which caused the absence of three bowlers during the season. In the circumstances it was not surprising that they won only one match and lost five of the remaining twelve. T. J. King, a stolid opening batsman, M. R. Ludlow and the captain, P. A. R. Greenstreet, played several good innings but the middle batting was unreliable. Greenstreet developed into a useful new-ball bowler and J. J. M. Barron spun the ball intelligently.

Because of batting weaknesses, Rydal School experienced one of their poorest seasons for many years and, of their seventeen fixtures, ten were lost and only three won. Most of the batsmen lacked scoring strokes and E. N. Dale-Jones, the most successful, often got himself out through impetuosity. The bowling gave more cause for satisfaction. P. W. Hughes, the captain, bowled at a fair pace and he would have done even better but for fielding lapses in the slips.

After a disastrous start, St. Alban's School improved considerably and of the ten matches played, three were won and four lost. H. A. F. Malden, the captain, began the season without any other old colours but his example in the field and intelligent handling of a well-varied attack did much to mould the team into a keen and effective band. Young players showed great promise, particularly L. J. Holt an off-spinner and attractive batsman. Malden, fast-medium, and G. Giffen, slow left-arm, also bowled well.

St. Bees School, capably led by T. W. Burgess, won three matches, lost four and drew four. Burgess alone stood out among the batsmen, but the bowling, particularly that of D. G. Holliday, commanded respect.

Bad fielding and a shortage of good batsmen cost St. Dunstan's College a better record than five wins, five draws and five losses. The captain, D. P. Thomas, his opening partner—D. E. Norman and the wicket-keeper, R. J. Smith, were the only consistent rungetters. The attack was well-varied but lacked support.

St. Edward's School, Oxford, under the captaincy of D. S. Gilbert-Smith, gained three notable victories and only bad weather robbed them of more. Four games were lost. The unusual combination of three left-arm slow bowlers and two off-spinners successfully supported J. N. MacCaig (fast-medium) and J. D. Currey (left-arm) who headed the averages. A. Brockman and M. E. Thorne were the most dependable batsmen, though the batting of R. Lock showed great improvement. His bowling disappointed.

St. Paul's School batsmen lacked enterprise and confidence a factor which was mainly responsible for the poor record of seven losses against two wins from sixteen matches. The bowling depended largely on R. O. C. Norman and A. M. Dougall both of whom had to work hard to offset the absence of bowlers of genuine pace. They were excellently supported in the field where the captain, G. Nolan, set an admirable example. J. Krieger and D. B. Tapley played some good innings but the later batsmen seldom offered much resistance. St. Peter's School, York, enjoyed a highly satisfactory season, winning five and drawing seven of thirteen games. Rain was largely responsible for the high proportion of undecided games. The side was not beaten by a school and gained convincing wins over Durham, Giggleswick, Ampleforth and Leeds. Match-winning factors were the splendid bowling of J. J. Youll and the reliability of the batting. N. M. Hodd and W. H. N. Fairweather were specially successful.

Thanks mainly to the excellent bowling of P. Prodger, the captain, and S. G. Carmichael, Sevenoaks School enjoyed their best season for many years. Five matches were won, five drawn and two lost. Prodger and R. I. Briars batted confidently and the side gained at least one admirable victory against the clock.

Sedbergh School cricket, under the able leadership of P. B. Maxwell, gave much cause for satisfaction. One of the best features was the spirited manner in which the later batsmen usually responded to a crisis—though they collapsed badly against Stonyhurst. Of the eleven fixtures played, five were won and two lost. Maxwell and J. M. Hunter were a reliable opening pair and T. A. Good and W. J. Downey hit the ball hard. The attack proved steady but lacked a bowler of real pace. M. H. Ainley enjoyed many good spells and the introduction of J. F. Jackson (off-spin) late in the season was most successful.

Sherborne School possessed considerable batting strength, but the attack was not of the same standard and only two matches were won. Three were lost and six drawn. The captain, F. M. Anderton, R. K. Day, J. K. Walker and A. G. Stoughton-Harris played many delightful innings though the middle batting was unreliable. No bowler of real pace was found and P. A. Elliott provided the main contrast to the slow bowlers, Anderton (offbreaks) and P. T. I. Smith (leg-breaks). T. J. Horn kept wicket well.

The Shrewsbury School record of three wins, five defeats and six draws, did not give a true picture of the worth of the eleven specially in comparison with other schools. Repton won by the narrowest possible margin—by one wicket off the last ball—and the games with Uppingham, Rossall and Malvern were well in hand when stumps were drawn. The season ended on a gratifying note when Free Foresters were beaten for the first time for many years. Whereas the bowling proved steady, the batting was uncertain and the order might have been reversed without noticeable effect. R. E. Strickland, the captain, and J. R. V. Woods, the leading all-rounder, were most successful. The fielding, particularly the wicket-keeping of C. J. S. Hill, was generally first-rate.

Solihull School went through a poor season, winning only one of their ten matches and losing five. More than once, however, rain interfered when victory seemed likely. The best feature was the forceful batting of C. B. Richards. R. Rushton was a talented leg-break bowler but the fielding left room for much improvement.

The main feature of Stamford School cricket was the splendid batting of the captain, M. J. K. Smith, who earned a place in the Rest XI at Lord's. His only worthwhile support came from G.S. Hopper, a useful all-rounder, and T. J. Guffick. The attack was better balanced. R. C. Smith, with left-arm leg-breaks, enjoyed marked success and D. G. Wood, another left-arm bowler, did well. Six matches were won, five lost and two drawn.

An epidemic of missed catches was largely responsible for the unimpressive Stonyhurst College record of two wins, four defeats and seven draws. Several members of the side, notably the captain, P. J. Leyden, possessed talent well above average. Leyden again proved the mainstay of the batting. His defence was particularly sound and nimble footwork did much to compensate for his limited range of scoring strokes. He could do well at Oxford. The best stroke-player was the youngest member-P. S. Delisle, Despite lack of fielding support, the bowlers were steady. P. G. Charnock bowled off-breaks with more guile than usual in a schoolboy and R. P. Godfrey (fast) enjoyed an exceptional spell in which he took five Sedbergh wickets without cost. The mediumpaced bowlers, P. Finch and E. A. Morales, gave little away. Eight of the side remained for 1951.

Weak out-cricket was largely to blame for the depressing Stowe School record of one win and four defeats from fourteen matches. The batting was stronger than expected for H. J. Lloyd, the captain, and C. H. Lezard made runs consistently and several others played innings of merit. P. H. Mollov bowled particularly well early in the season and P. G. and B. C. Harris improved considerably. These three were all medium-paced, however, and more variety would have strengthened the attack. Although the catching was fairly reliable the ground fielding was slow and many runs were given away. Lloyd and three of his team remained for 1951.

The Sutton Valence record of three wins, eleven defeats and a draw was deceptive for all the victories were gained in inter-school matches and three of the defeats were against club sides after the school declared. A. J. Knight proved an able leader and his fastmedium bowling provided an effective contrast to the left-arm Smith.

howling of J. A. Roper. The most successful batsman was C. F.

With only one other old colour available, A. F. Dibble, the Taunton School captain, did not find a settled team until late in the season. The average age was fairly young but many of the players showed considerable talent. J. Baker again showed his worth as an all-rounder, W. G. Lewis batted well and Bibble provided most assistance in attack. Uncertain fielding gave runs away, otherwise the record of three victories, six defeats and six draws might have heen better.

M. C. Cowdrey, in his fifth year in the Tonbridge School eleven, was again the dominant figure, claiming over 1,000 runs and nearly 50 wickets. His exceptional talents were recognised by Kent who included him in the county side towards the end of the summer. He also captained Public Schools at Lord's. Cowdrey received better support than in 1949, especially in the field where the standard was high. Six matches were won, seven lost and two drawn.

N. Armstrong, the captain, was the dominant personality in Trent College cricket. A forcing right-hand batsman he made many fine scores including 200 not out against Oakham-the last 120 in an hour. A. J. Radley and D. Snowdon were better batsmen than their figures suggested. Apart from F. W. Norton, a slow left-arm bowler who compensated for lack of spin by pitching the ball well up to the batsmen, the bowling was less impressive. Three matches were won, two lost and nine drawn.

Strength in attack enabled University College School to gain a moderately successful record. R. J. Lyon, P. J. Caston and C. J. Parry all bowled well and the captain, A. J. Drew, was the best of an unimpressive batting side.

The Uppingham School season was by no means as dull as the curious record of one defeat, one victory and ten draws (including all five school matches) suggested. The batting, with C. H. Maxwell, C. K. R. Vartan and D. H. Davies prominent, was stronger than for many years. Vartan handled his limited bowling resources well, but as the only genuinely quick bowler he had to do too much work himself. R. J. Bennett used off-spin cleverly but the bowling of R. N. Haygarth and C. H. Maxwell, though keen, did not provide sufficient contrast in spin.

Wellingborough School fared very much better against other schools than against club sides. Two games were won, three lost and eight drawn. P. Almond proved a keen leader and his batting showed remarkable improvement during the season. F. J. Cook, no stylist but difficult to dislodge, was the chief run-getter and B. Huckle (off-spin) headed the bowling.

Admirably led by P. D. Waghorn, Wellington College won six and lost three of twelve fixtures. The nucleus of a strong side was formed by R. O'Brien and J. H. E. Whittaker, both extremely capable batsmen and D. K. Fasken and P. R. Churchill, two splendid bowlers. Whittaker kept wicket consistently. Although the rest of the team often failed to provide the support expected, R. D. W. Norris did well enough with the bat and in the field to earn a place with Fasken in the Schools' Match at Lord's.

Bowling weakness prevented Westminster School from winning more than three of thirteen matches. C. C. P. Williams, a talented forcing batsman made nearly 700 runs in eight completed innings and, though overshadowed, C. J. H. Davies, D. H. Giggins and R. K. Pitamber batted well. R. T. Robinson, the captain, had a distressing summer with the bat and K. J. M. Kemp's fast-medium bowling was nothing like so effective as in 1949. The lack of a good spin bowler was often noticeable. Williams leads the side in 1951.

Under the captaincy of a good all-rounder in R. Subba Row, Whitgift School did very well to win nine and draw five of their sixteen games. M.C.C. were among the teams beaten. Subba Row's leg-breaks and googlies earned him some remarkable figures including nine wickets for nine runs against Hurstpierpoint and nine for 27 against Incogniti. G. Thompson gave his captain splendid assistance both as batsman and bowler but the bowling of R. N. Lewis declined. Subba Row goes to Cambridge.

The Winchester College batsmen failed to find their true form until very late in the season with the result that what was expected to be a really good side succeeded in winning only two matches. Six were lost and the same number drawn. The most reliable batsman was J. L. Bryson although more than once D. W. R. Bedford was forced to play a "captain's innings" to save the side. Against Harrow and Marlborough the batting gave cause for extreme disappointment, but thereafter it improved. M. R. Coulman made up for many inconsistent displays by hitting 200 out of 335 at Agar's Plough, thus maintaining his remarkable record against Eton. Coulman is captain in 1951. Unexpectedly, the bowling proved for much of the season to be appreciably stronger than the batting. I. H. McCausland was particularly effective with flighted off-breaks from round the wicket and Bedford gained some surPublic School Cricket in 1950

prising successes. The fielding reached a high standard, M. D. Scott showing real promise behind the stumps.

Worcester Royal Grammar School won six matches and lost two—both by slender margins. This splendid record was due almost entirely to the efforts of three bowlers, B. White (fastmedium), R. G. Woodcock (slow left-arm) and M. A. Norman (off-spin) who between them dismissed 126 opponents. They received invaluable assistance from E. C. Clarke who stumped eighteen batsmen and caught three. The captain, D. R. Claytor, hit an excellent not out century against K.E.S., Birmingham, but the batting otherwise was rather unenterprising. Nine of the side will be available in 1951.

Against other schools, Worksop College did well to win three matches, draw two and lose only one, but club sides usually proved too strong. The season was memorable for two exciting finishes, particularly the one with Mount St. Mary's which was won with the last ball of the match. The batting was solid without being brilliant, S. K. Waddington, J. W. Jago and the captain, J. C. Wright, all playing good innings. In attack too much work fell on Wright, Waddington and R. D. E. Brunton although G. A. Cooke showed much talent with his slows.

Wrekin College showed appreciable improvement compared with 1949 and inter-school matches brought successes against Worksop and Liverpool. The side lost to Denstone and Bromsgrove. J. I. Gartside and B. P. Shaw both disappointed with the bat but the advance of R. Hatch and J. Heron offset this partially. I. B. J. Wilson (left-arm) shouldered the main burden of bowling though he was well supported. Gartside inspired a consistently high standard of fielding.

Wycliffe College cricket showed a return to something approaching pre-war standard. The team took time to gain confidence but despite a weakness on slow pitches they went through the season unbeaten. Four matches were won and eight drawn. The batting was strong and dependable with J. R. Maguire, P. Fisher and P. Michell the best. The absence of a fast or slow bowler of real quality was compensated by the staunch work of the mediumpaced pair, J. Ganz and S. Mehta. M. H. Beard led the side keenly.

The Wyggeston Grammar School record of two wins, two losses and six draws showed some improvement on 1949 but left room for much more. The batting, apart from a few good innings by I. V. Slack and M. N. Cockayne, was unimpressive and the outcricket lacked aggression.

# SCOTTISH SCHOOLS

Edinburgh Academy, under the excellent leadership of J. M. Allan, won all six inter-school matches by convincing margins and were undefeated in club games. The captain enjoyed a splendid season both as a batsman and left-arm slow bowler and he earned a place in the Schools trial at Lord's. A. J. Grieve was the most accomplished of the remaining batsmen. N. J. Brow, mediumpaced who took four Merchiston Castle wickets with successive balls, and H. J. L. Allan (right-arm slow) gave best support in attack.

Although Fettes College possessed three good batsmen in their captain, A. L. Gunn, D. S. Lowe and C. M. Parker, the attack was not strong enough to force more than three victories from twelve matches. Two games were lost and the remaining seven left drawn.

Loretto School did not have a particularly strong side and though the record against other schools was average, six of the ten club games were lost. Despite useful innings by the captain, H. D. Cochran, and H. J. Bennett, the batting was unreliable and the most likely-looking bowler, J. P. Stokoe, did not fulfil early promise. Bad weather, which ruined both two-day fixtures, and pitches of varying pace prevented the team from settling down. Cochran made a steady and thoughtful leader but he could have demanded and obtained more support from his team.

Merchiston Castle School drew with Fettes and Trinity but lost their other school matches against Watson's and Edinburgh Academy. The Loretto match was abandoned. Of the twelve other fixtures, two were won, six lost and two tied. The eleven was younger and generally weaker than in recent years. The captain, I. S. Taylor, and P. G. Smith headed the batting with almost identical figures and J. C. Mackenzie, captain in 1951, performed gallantly in attack.

George Watson's College, stronger in bowling than batting, won five and lost four of fifteen games. J. H. McDonald batted consistently and showed a sound defence but the later batsmen seldom made many runs. The bowling, opened by C. A. R. Cowan, was well varied.

Trinity College, Glenalmond, handicapped by the unexpected failures of their spin bowlers, won four and lost five of fifteen games. I. C. Burnett, in his third year as captain, fared better with the bat than in 1949 and M. R. Cornwall-Jones made a steady opener with a particularly effective cover-drive. E. R. Paton (fast-medium) carried the attack for most of the season until L. B. Parker struck form.

# PUBLIC SCHOOL AVERAGES

The name of the captain is indicated thus † Innings marked \* are not out.

For Scottish Schools, see end of this section.

## ALDENHAM SCHOOL

## Batting

	Innings	Not outs			Runs	Average		
+T. J. Law	15		5		313	 66*		31.30
I.R. Heron						72		26.37
J. L. Renwick						58*		24.92
J. G. Joel						57*		24.53
P. A. F. Newton	. 14		1		163	 40		12.53

Bowling

	Overs	N	laider	ns	Runs	1	Wicket	ts	Average	
J. E. Kentish	170.1		29		492		45		10.93	
M. Helder	129		30		293		24		12.20	
R. H. M. Arkell	224.3		57		475		37		12.83	

## **ALLEYN'S SCHOOL**

batting						•				
	Innings	N	ot ou	its	Runs	Hi	ghest ir	ins.	Average	
†M. J. Stewart	. 19		6		556		90		42.76	
J. F. Pretlove	. 17		4		508		104*		39.07	
R. F. Bedford	. 16		2		288		70		20.57	
H. P. King	. 14		4	1	178		42		17.80	
A. C. Younger			1		260		52	••	14.44	

## Bowling

D-44\*-

0	Overs	I	Maide	ns	Runs	 Wicket	ts	Average
A. C. Younger	38.2		9		90	 12		7.50
J. F. Pretlove			102		637	 67		9.50
D. A. Palastanga	182		58		391	 36		10.86
R. F. Bedford			21		230	 19		12.10
M. J. Stewart	90.2		22		249	 19		13.10

## **ALLHALLOWS SCHOOL**

## Batting

Manhata A annual and	Innings	No	ot ou	ts	Runs	Hig	hest in	nns.	Average
<sup>†</sup> K. G. Hutchings	13		2		298		90		27.09
W. P. Thurgood	11		1		234		71		23.40
R. Taylor	11		2		136		33		15.11
K. F. Keightlev	14		1		183		50	·	14.07
D. W. Hillier	14		0		187		65		13.35
D. S. Fleming	8		0		101		39		12.62
R.O. Hudson	13	••	3		112		51*		11.20
Bowling				old.					
ALL DE MARY . FEGT	Overs	M	aider	15	Runs	1	Vicket	ts	Average
K. F. Keightley	173		57		378		38	10	9.94
R. Laylor	178		50		461		40	1.37	11.52
R.O. Hudson	86		14		267		21		12.71

Ratting

# Public School Cricket in 1950

# AMPLEFORTH COLLEGE

Datting									
A CALL AND A CALL AND A CALL AND A CALL	Innings	N	ot ou	its	Runs	Hig	shest in	nns.	Average
†P. A. Mitchell	. 13		3		299		43*		29.90 .
J. G. Faber	. 11		1		247		54		24.70
S. M. Bradley			1		218	un the	45*		18.16
M. Tarleton			1		157		43		15.70
M. Tate			1		179		60*		14.96
P. Vincent	. 11	1.1	1		140		47*		14.00
M. Fisher	. 12	••	2	•••	137		68*		13.70
Bowling	V. Intel								
Dowing	0		Taide		Duna		Wicket		A State State
Share and Share	Overs	IV		ns	Runs			S	Average
P. A. Mitchell	. 158		44		329		33		9.96
M. Corbould	. 50		8		147		14		10.50
M. Tate			30		470	614 B	36		13.05
111. 1 400	. 100	••				• •			10.05

# **BEAUMONT COLLEGE**

# Batting

	Innings	Not	outs	Runs	Hig	shest in	ns.	Average
P. A. Dingli	. 14	0	)	265		47		18.92
A. B. Wallerstein	. 14	1		223		47		17.15
D. Gubbins	. 14	1		212		70*		16.30
P. H. Beausire	. 15	1		226		32		16.14
J. Harden	. 14	1		183		42		14.07
W. J. Morrogh	. 15	0	)	211		37		14.06

# Bowling

Ratting

	Overs	Maidens	Runs	Wickets	Average
W. J. Morrogh					6.30
A. B. Wallerstein	326.5	122	631	 64	9.85
A. Constable	164	42	431	 27	 15.96

# **BEDFORD SCHOOL**

Datting	1 90	-	19		Deres	TT	hest ir	-	Average	
a second s	Innings	N	ot ou	ts	Runs	Hig			24.73	
C. D. Miller			1		371	••	80*	••		
M. S. Meeson	16		0		328		66	••	20.50	
D. R. Wynn-Williams .	16		2		254		33*	••	18.14	
D. A. W. Evans	. 13		0		207		44		15.92	
R. I. T. Hogg	. 15		0		204		61		13.60	
R. L. Cartwright			3	-	154		48		12.83	
D. A. Briggs		100	Õ	a de la de	170		62		12.14	

# Bowling

Bigerston and destualty	Overs	N	Aaide	ns	Runs	1.44	Wicket	S	Average	
M. H. J. Allen									12.73	
†P. A. Mounfield	145.1		29		379				22.29 24.40	
R. L. Cartwright	215.5		32		611		25	••	24.40	

# BEDFORD MODERN SCHOOL

Batting	Innings	N	ot outs	Runs	Hi	ghest inns.	Average
R. A. Gale †P. G. Miller			$\begin{array}{ccc} 1 & \cdots \\ 2 & \cdots \end{array}$	477 242	::	99 ··· 103* ···	59.62 30.25
S. W. Houghton D. J. Kingston	. 9	••	0	174 103		94 ··· 39 ···	19.33 17.16
F. D. Holman			ō	133		38	13.30

States.

# Public School Cricket in 1950

Bowling	Overs	N	Iaide	ns	Runs	1	Wicket	S	Average
M. G. Cave K. Tait	1735		49		131		20		12.05
R. A. Gale	123.5		32		290		22		13.18

# BERKHAMSTED SCHOOL

Batting	Innings	No	ot ou	its	Runs	Hig	shest i	nns.	Average
+A. J. Birrell	. 13		2		326		80	••	29.63
D. F. Severs	. 13	20	1		196		49	••	16.33
N. H. Mills	. 13		0	••	186	••	61	elerres?	14.30
M. B. Mathalone	. 12		0	••	124		30	1.10	10.35
D. F. Brown	. 12	••	0	••	122	••	21	Rat M	10.10

## Bowling

2011-0	Overs				Runs	Average			
W. Wace	104.3	313	28		263		20		13.15
R. P. Denny	173 5		42		398		30		13.26
M. J. Allen	103.1		22		287		19		15.10
J. Griffin	105.1	•••	32	241	218		11		19.81
J. Grimn	100.4	••	15		349	1.1.1	16	1	21.81
D. F. Brown	100	••	15	•••	545			19 CLAX	Land and the state of the

# BISHOP'S STORTFORD COLLEGE

Batting	Innings				Runs	Hig		Average
C. I. M. Jones	. 13		2		284		68*	 25.81
P. G. Collett			0		276		48	 21.23
A. M. Hazell			0		150		84	 16.66
†M. H. Bull			0		211		46	 16.23
A. R. Edmonds		×.,			111		45	 12.33
C. W. Nighy			ĩ		129		24	 10.75
0. 11. 1 11guy	·	1.2.3	ASI	1 1	SHEFT	1		

bowing	Overs	N	Taide	ns	Runs	1	Wicket	s	Average
C. I. M. Jones	61		3		211		12		
C. W. Nighy			16		361		20		18.05
K. A. Bines			20		387		19	•••	20.36
D. T. Kilian	195.3		33		523	••	21	••	24.90

# **BLOXHAM SCHOOL**

Datting	Innings	Not ou	its	Runs	Hig	hest in	nns.	Average
†R. F. De Lattre	. 12	3	XCVA	201 141		70* 80	•••	22.33 12.81
A. J. Lord J. C. Dunton	. 12	0		144	~	32		12.00
M. J. Burrows	. 10	0	0	120		26	••	12.00

# Bowling

Dattin

n. 1'

	Overs	N	Iaide	ns	Runs	Average			
D. J. Maisey	77		18		213		24		8.87
R. Law	131.4		37		360		34	10000	10.58
A. J. Lord			44		374		35	10.0	10.68
M. A. Scott-Smith			18	• • •	218	•••	18	••	12.11

Batting

# Public School Cricket in 1950

# **BLUNDELL'S SCHOOL**

	Innings	N	ot ou	ts	Runs	Hi	ghest ir	ma	
D. J. Hollands			0		257	111	89 89	ms.	Average 36.71
†J. M. Bedford	. 11		1		330		101*		33.00
R. J. Russell	. 10		2		241		76		30.12
A. D. W. McLean			3		111		27		22.20
H. R. Bayly			2		216		50*		21.60
T. R. Newell Price			0	••	162	•••	33		14.72
R. D. Hay	11		0		145		33		13 18

# Bowling

	Overs					Wickets	Average
D. J. Hollands	48.3		9		162	15	10.80
J. M. Bedford	138		26		387	22	17 59
M. A. C. Marshall	63		9		238	13	18.30
G. L. Lang							

# **BRADFIELD COLLEGE**

# Batting

and the second sec	Innings	N	ot or	uts	Runs	Hi	ghest in	ins.	Average
†C. J. Lee	. 13		1		511		145		42.58
J. L. Quarrington	. 17		2		397		101*	111	26.46
M. E. Taylor			1		317		90		22.64
N. L. Denham	. 13		0		222		64		17.07
D. J. Kerr	. 16		2		217		44		15.50
C. B. R. Fetherstonhaugh			0		226		50		15.06

# Bowling

1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1	Overs	Overs Maidens			Runs	Wicker	ts	Average
C. J. Lee	211		54		412	 43		9.58
P. P. Short	164		26		517	 41		12.60
M. Blanford	244		84		588	 41		14.34

# BRADFORD GRAMMAR SCHOOL

# Batting

	Innings	N	ot ou	ts	Runs	Hig	hest inn	s.	Average
†A. S. Fox	9		2		123		33* .		17.57
G. W. Moore	. 8		2		103	1	27* .		17.16

# Bowling

Ratting

	Overs	N	Aaide	ens	Runs		Wicke	ts	Average
J. D. Waterhouse	91.5		25		252		29		8.68
B. Petyt			41		212		21		10.09
K. D. Robinson			30		172		17		10.11
C. E. Heighton			13		148	• •:	14		10.57

# **BRENTWOOD SCHOOL**

Dutting										
00.57	Innings	N	ot ou	ts	Runs	Hi	ghest i	nns.	Average	
G. W. Horrex	. 16		2		402		102*		28.71	
D. M. Newman			0		241		85		21.90	
A. B. Coull			2		196		67*		21.77	
R. C. Malyon	. 15		1		270		50		19.28	
K. A. Williams			2	1	247		47		19.00	
B. A. Davidson			1		186		50		15.50	
†R. G. Sharpe	. 11		1		124		61		12.40	

mille.

# Public School Cricket in 1950

Bowling	Overs	N	laide	ns	Runs	1	Wicket	s	Average
J. B. Meehan R. G. Sharpe K. A. Williams	177	::	19 48 28		217 444 376	··· ···	19 28 21		11.42 15.85 17.90
M. E. Wall	122		19		394		18	••	21.88

# **BRIGHTON COLLEGE**

Batting	Innings	N	ot ou	te	Runs	Hig	hest in	ins.	Average
9		14	0		501		95	1.13	33.40
A. B. D. Parsons		••	2	•••	423		87	1	32.53
I. J. Glassborow		•••	1		392		69	2.3.4	28.00
P. Kemp		•••	1		339		49		24.21
†J. A. Ince		••	2	•••	225	•••	48		18.75
G. C. Smith		••	2	••	102		35	•••	14.57
I. O. Dowding		••	3	••		••	48*	••	14.40
R. W. Frizell	13		3	••	144	••	40	••	14.40

## Bowling

Dollar-8	Overs		Iaide		Runs		Wicket		Average
P. Kemp	199		41		526		44		11.95
D. W. Pye	493		12		143		10		14.30
J. S. Gibson	149 2		44		378		24		15.75
		•••	4		406		21		19.33
A. B. D. Parsons			0		299		12	0.25	24.91
J. A. Ince	75		0	••	299	••	14	1	

# **BROMSGROVE SCHOOL**

Datting	Innings	N	ot ou	its	Runs	Hig	hest in	nns.	Average
T. N. Mitchell	. 12		1		177		35	••	16.09
J. H. Atchley	. 8		0		108		25	••	13.50
J. C. East	. 11		2		120	••	35	••	13.33
†N. T. Sisson	. 12		1		136	••	43	••	11.08
J. W. Eardley	. 12		0		133		31	••	11.00

# Bowling

Ratting

	Overs	N	<b>Iaide</b>	ns	Runs		Wicket		Average
N. T. Sisson	106.1		29				30		8.46 10.04
J. R. Wilson	90.1		19		211		21		12.76
J. Faull	55		9		166		13		
J. C. East	68.3		10		226	••	11	••	20.55

# **BRYANSTON SCHOOL**

Batting     T. J. Sankey     J. Harrison     †J. W. Drawbell     S. Graham     C. G. Scholes     D. S. Wood	Innings 10 10 11 11 11 9	Not c 2 2 2 1 2	outs    	Runs 246 200 206 156 170 107	Highest inns. 76* 40 49 49* 41* 36*	Average 61.50 25.00 22.87 17.33 17.00 15.28
Bowling	Overs	Maio	lens	Runs	Wickets	Average
J. Harrison T. J. Sankey J. W. Drawbell	112 172 96	30 48 19		229 301 236	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	6.54 7.00 8.74

# CANFORD SCHOOL

# Batting

R. C. Hampel	Innings	Not outs	Runs	Highest inns.	Average
B. L. G. Kenny	14	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	147 264	44	29.40 22.00
C. A. Akers †P. B. C. Emby	13	$\begin{array}{cccc} \cdot \cdot & 1 & \cdot \cdot \\ \cdot \cdot & 1 & \cdot \cdot \end{array}$	171 207	$ \begin{array}{cccccccccccccccccccccccccccccccccccc$	19.00 17.25
A. C. D. Mackie M. R. Goodliff	14	1	180 176	40	13.84
Finders A state	anusi.	entruit a	170	50	12.57
Bowling	Overs	Maidens	D	Parsons	CAL
M. A. Budd	156.5	30	Runs 459	Wickets 27	Average 17.00
J. G. Trouton D. J. Peddie	49	14	275 250	··· 12 ···	22.91 25.00
I. D. Blackburn	94	13	383	··· 12 ···	31.91

# CHARTERHOUSE SCHOOL

Batting

	Innings	Not outs	Runs	Highest inns.	Average
†J. W. H. May	. 14	. 2	502	121	
C. H. W. Robson	. 14	2	244	50*	20.33
M. G. Varcoe	12	õ	236	84	19.66
M. R. P. Young	. 14		271	52	19.00
M. Burton-Brown	13	0	209		17.41
G. E. R. Lloyd	. 12		202		16.83
M. C. Donne	. 11		130		
M. D. C. Jenks	. 11	1			13.00
IVI. D. C. JCHKS	. 14	4	122	31*	12.20

# Bowling

as at the second	Overs	Maidens	Runs	Wickets	Average
C. M. Chadwick	146	44	428	26	16.46
S. Stevenson		47	512	28	18.28
J. W. H. May	197	50	562	27	20.81
M. R. P. Young	175	26	667	15	44.46

# CHELTENHAM COLLEGE

# Batting

	Innings	Not ou	ts	Runs	Highest int	1S.	Average
†D. M. Richards	. 14	1	C/L	517	124		39.76
N. H. Evans	. 15	1		324	56		23.14
D. G. Bellhouse	. 12	3		201	44		22.33
A. Whitehorn	. 14	. 4		216	61		21.60
D. G. Mee	. 14	1		162	40		12.46
J. R. Nicholson	. 10	. Ō	10000	118	. 24	-	11.80
W. V. Powell		0		139		-	10.69
H. R. P. Thompson		0		143	32		10.21

# Bowling

a shared	Overs	Maidens	Runs	Wickets	Average
D. G. Mee	127.1	36	265	29	9.13
D. M. Richards	147.3	25	438	29	15.10
H. R. P. Thompson			591		17.38
J. M. Blackburn	149	28	341	19	17.94

# Public School Cricket in 1950

# CHRIST'S HOSPITAL

Batting	9	Not outs	Runs	Highest inns.	Average
†D. R. W. Silk		0	397	80	44.11
A. Joanes		0	343	106	38.11
P. L. Birkett		1	119	41	14.87
Bowling	Overs	Maidens	Runs	Wickets	Average
D. R. W. Silk	. 120.2	22	361	41	8.80
J. J. McInerny	. 109.2	20	259	12	21.58

# **CLIFTON COLLEGE**

Batting	Innings	N	ot ou	ts	Runs	Hig	shest in	ns.	Average	
M. B. Foyle	. 10		2		257		77*	••	32.12	
tR. V. Turner			0		422	••	136	••	26.37 23.46	
R. P. Rankine			2		352	••	80	•••	19.55	
A. J. Smith			2		176	••	42 80	14.	17.14	
M. P. Learoyd			1		240	••	50		15.31	
C. W. Witt		••	1		245 169	•••	51*		12.07	
R.C. Callinan		••	1	••	167		35*	•••	11.92	
J. D. C. Rees	16	• •	2	••	107	••	55	•••		

Bowling	Overs	Maidens	Runs	Wickets	Average
A. J. Smith J. D. C. Rees C. G. I. Rose T. J. Rowberry	277.1 98.3	29	421 590 228 354	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	11.69 12.55 14.25 18.63

# CRANBROOK SCHOOL

through with stands History ing

Batting	Innings	Not outs	Runs	Hig	hest in	ins.	Average
B. H. Wardle		2	260		54		18.57 17.00
D.K. Penfold	. 16	3	221	••	80* 57	••	15.31
†B. B. Moore		0	245 207		34	BAD I	12.93
A.R.C. Galpin		0	201		30		12.56
J. M. Nichols		0	143		35*		11.00
M. V. Hayward C. F. Edwards		õ	151		61		10.78
A. D. Moss		2	136	••	27	•/•	10.46

Bowling	Overs	N	Aaide	ns I	Runs		Wickets	Average
B. H. Wardle	183.2		47		420		45	9.33
J. M. McMahon			22		167	••	16	10.43
C. F. Edwards			10		185	••	14	16.45
A. R. C. Galpin	152.3		37		329		20	20.64
A. D. Moss			7		289		14	20.04

734

Batting

# Public School Cricket in 1950

# **CRANLEIGH SCHOOL**

N. A. Paul. J. W. Clements A. Holmes B. W. Clements D. B. Cameron R. W. Elsdon-Dew. P. D. Blockey Bowling	14 14 14 14 14	Not outs 0 4 2 1 0 2	Runs 376 354 229 223 209 183 114	Highest inns. 93 84 76 70* 51* 48 41*	Average 26.85 25.28 22.90 18.58 16.07 13.07 10.36
N. A. Paul. J. F. Hagenbuch R. W. Elsdon-Dew B. W. Clements	174.2	Maidens 52 43 18 9	Runs 383 485 226 244	Wickets 49 28 13 14	Average 7.81 17.32 17.38 17.42

# **CULFORD SCHOOL**

Batting	

J. S. Hercock	Innings	Not	outs	Runs	Hig	shest inns	5. Average
D. A. D. Flaslow	1		3	277 252		32 .	. 23.08
F. N. Fenning A. J. Parker	. 13		4	147	••	26 40	. 16.33
Sector States and Stat	- Start -	1	• ••	1/0		40 .	. 12.37

# Bowling

F N Fenning	Overs	N	laide	ns	Runs	Wickets	Average
F. N. Fenning J. B. Kirch	101.1		11		456	20	12.00
D. Beech	67		2		262	 18	 14.55

# DEAN CLOSE SCHOOL

J. R. C. Watts	Innings	ot ou	its	Runs	Hig	shest inns.	
M. D. Moran	. 12	 1		180 101	••	35	16.36
P. J. Russell-Sienesi	11	 ĩ		124	••	31	14.42 12.40
M. G. Dash	. 12	 1		115		33	10.45

# Bowling

Batting

Batting

MAN	Overs	N	Iaide	ns	Runs	Wickets	s	Average
M. D. Moran	82.2		16		228	 22		10.36
C. L. Hodgetts	83		15		277	 20		13.85
D. V. Rose	71.2	• •	5		291	 18		16.16

# **DENSTONE COLLEGE**

	Innings	N	ot or	its	Runs	Hi	ghest in	nns.	Average
M. J. Amps	. 12	100	4	2	534		105*		66.75
W. G. Tobias	. 8		2		154		71	10.00	25.66
D. E. T. Mather	12		2		239		46	11/12	23.90
A. C. Dracup	10		2		149		50	1000	18.62
D. E. Cook	10		0		159	•••	37	040	15.90
†S. D. Hignell	10		0		107		41	1000	10.70

# Public School Cricket in 1950

Bowling	Overs	N	Iaide	ns	Runs	,	Wicket		Average
J. R. F. Curry	73.1 97	••	26 26		157 249	::	14 15	::	11.21 16.60
n.E. Cook	157		42		445		23		19.34

# DOVER COLLEGE

Batting	Innings	N	ot outs	Runs	Hig	hest in	ns.	Average
R. R. Bairamian	. 9	· · ·	3	163 126	••	63 30	••	27.16 14.00
10. G. Haydock-Wilson M. J. Doyle.	1. 11	•••	$\tilde{0}$ $\vdots$	138		74		13.80
I W Walmsley	11	•••	0	146 129	••	49	••	13.26
M. H. W. Jones	. 11	::	1	111		27		11.10

## Douling

Downing	Overs	N	Taide	ns	Runs	1	Wicket	S	Average	
R. R. Bairamian			6	R	200		17		11.76	
A. R. Stocken	67		9		211		13		16.23	
I.W. Walmsley	155.4		37		402		24	••	$16.75 \\ 20.53$	
0 G. Haydock-Wilson	87		10		267		13	••	20.55	

# DOWNSIDE SCHOOL

Batting	Innings	Not outs	Runs	Highest inns.	Average
R. St. J. Jackson		1 .	. 362	80	40.22 36.50
R. J. Adamson	-	$ \begin{array}{cccccccccccccccccccccccccccccccccccc$	135	50*	27.00
T.H. Norman	0	3 .	. 126	48*	25.20 22.72
E.A. McGuire	. 12	1 .	250	$ \begin{array}{cccccccccccccccccccccccccccccccccccc$	15.33
J. A. Cummings N. P. Mullany		$\frac{1}{2}$	: 102	28*	12.75
†K. Wylie		2	. 128	35	11.63
Bowling			7	Wiskota	Average

0	Overs	M	aider	15	Runs	. 1	VICKET	S	Average
R. J. Adamson	141		34		375		31	••	12.09
M. L. Berger	141		40		386		21		18.38
J. Lomas	190		37		536	••	18		29.77

# DULWICH COLLEGE

Batting	Innings	N	ot ou	its	Runs	Hig	shest in	ins.	Average 55.60
A. C. Warren	. 13		3		556		123*	••	
N. L. Warren			2		231	••	46	••	23.10
K. N. Taylor			1		222	••	45	••	20.18
A. N. Finlay			4		137		39*	••	19.57
†G. Higgs	12		0	• • •	217		82		18.08
J. M. McCleery			0		181		47		13.92
J. B. Goodchild			0		104		25	••	11.55
Bowling									

bowing	Overs	N	Iaide	ns	Runs	V	Vickets	Average
N. L. Warren	137	•••	36	••	362 308	•••	17 .	21.29 23.69
M. J. Hankinson	94 105		16		309		13 .	 23.76
J. B. Goodchild			22		486		19 .	 25.57

Batting

# Public School Cricket in 1950

# **DURHAM SCHOOL**

T. Bourn         †T. G. Smailes         D. I. Mort         T. P. Mitcalfe         B. D. Perrott         Bowling	. 15 . 16 . 15	Not outs 3 2 0 1 1	Runs 412 221 207 179 182	Highest inns. 77* 53* 64 38 38	Average 31.69 17.00 12.93 12.78 12.13
T. P. Mitcalfe J. M. Rans W. H. W. Swales T. Bourn	96 137 5	Maidens 39 13 26 4	Runs 516 309 357 228	Wickets 52 20 23 12	Average 9.92 15.45 15.52 19.00

# EASTBOURNE COLLEGE

C. J. G. Harding	Innings 14	Not outs	Runs 425	Highest inns.	
M. D. Churcher B. Edwards	. 14		176	36	30.35 13.53
G. R. Langton	. 14	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	145 143	$ \begin{array}{cccccccccccccccccccccccccccccccccccc$	11.15 11.00

# Bowling

Batting

I. G. Watt	154	14	Runs 600	10	Average
G. M. Lomax	131.5	30	411	15	15.33

ELTHAM COLLEGE

# Batting

K. T. A. Goodhew	Innings	Not outs	Runs	Highest inns.	
D. Bralsford	. 11	4		109*	-0100
G. H. Smith	. 11		167	60	20.87
O. II. Simili	. 11	3	103	34*	12 87

# Bowling

	Overs	Maidens	Runs	Wickets	Average
†P. D. Bairstow	156	54	295		9.21
D. Bralsford	109	24	278	27	10.29

**EPSOM COLLEGE** 

# Batting

B. O. Walpole	Innings . 13	No	t outs	Runs 358	Hi			Average
D. A. Music	13		1	425		95* 113	••	35.80 35.41
J. S. Hall	9		1	145		58		18.12
P. Adlington G. L. Sears	12	•••	1	188	•••	33		17.09
U. L. Dears	14		0	202		37	Y TONL	16.83

# Bowling

DAT	Overs	N	Iaide	ns	Runs		Wickets		Average	
D. A. Fenner	48.3		13	EM.	118		11		10.72	
D. A. J. Cartwright	114		20	-	353		24	KIN	14.70	
J. S. Hall	107.5		20		and the second se	•••	18		Charles and the second second	
G. L. Sears	98.5		20				10	•••		
D. A. Music	81.5		22			••	12	• •		
G. L. Sears D. A. Music	98.5	··· ···	20	··· ··	267 285 219		18 19 12		14.83 15.00 18.25	

# Public School Cricket in 1950

# ETON COLLEGE

Batting	Innings	No	ot out	s	Runs	Hig	hest in	ns.	Average
B. C. Gordon Lennox . A. C. D. Ingleby- Mackenzie P. A. Metaxa M. D. M. Sellar J. Montagu R. V. C. Robins D. C. Watney R. T. Gardiner-Hill D. L. Eckersley	$\begin{array}{cccc} & & & & & & \\ & & & & & & 13 \\ & & & & & 13 \\ & & & & & 14 \\ & & & & & 6 \\ & & & & & 13 \\ & & & & & & 8 \\ & & & & & & 9 \end{array}$	Nc	2 4 2 1 0 1 1 2 1 1 2 1	S    	Runs 182 319 251 237 294 292 104 248 109 145 122	Hig	hest in: 46 84* 103* 87 56 44 27 54 34 54 37	ns.      	Average 45.50 35.44 27.88 26.33 22.61 22.46 20.80 20.66 18.16 18.12 15.25
J. S. Guthrie	9	101			Algar.	PET			

Bowling	Overs	M	Laider	ns	Runs	1	Vicket	S	Average 16.31
R. V. C. Robins	214.4 141	••	38 39	••	669 385		41 16		24.06
N. C. Wadham P. L. Eckersley	121		31		327 751	••	12	•••	27.25
I.S. Guthrie	256.2	••	60	••	151	••	25	•••	

# FRAMLINGHAM COLLEGE

Batting I. Ives. C. M. M. Ford J. B. Stiles J. N. Raynham K. I. Mackenzie A. W. Grayson	14 14	Not outs 0 0 0 0 2 2	Runs 392 311 294 211 151 135	Highest inns. 	Average 28.00 22.21 21.00 15.07 12.58 11.25
Bowling	Overs	Maidens	Runs	Wickets	Average
M. N. Hawkes	202.3	49	509	41	12.41
C. M. M. Ford	191	49	584	28	20.85

# GIGGLESWICK SCHOOL

Batting B. Parsons B. Horn M. J. Hartley T. D. Wilson. J. P. Thornber	10	Not outs         Ru            1          26            1          22            0          15            2          14            0          15            0          15	$57 \dots 50 \dots 76 \dots 76 \dots 76 \dots 78 \dots 49 \dots$	Average 29.66 24.66 22.00 17.87 13.40
Bowling S. J. Hanscombe G. A. Briggs		56 3	Ins         Wickets           66          22            87          24	Average 16.63 20.29

# HAILEYBURY AND IMPERIAL SERVICE COLLEGE

# Batting

D. H. Bicknell	Innings	N	ot ou	ts	Runs	Hig	hest in	ms	A
TV. F. Browne	16		22	••	456 404		74*		Average 30.40
M. A. Thomas S. J. Kilbourn	11		7		162		85* 30*	••	28.85
A. D. G. Nicholas	15	••	0	••	297 257	••	94		23.14 21.21
V. R. Eastgate R. W. Ellis	15		Ô		245		70 41	••	18.35
R. S. Levy	14	•••	0	••	228 197	••	43		16.33 16.28
		•••	2	••	197	••	36		15.15

# Bowling

PIC Small 1	Overs	N	laide	ns	Runs	1	Wicket		
P. J. C. Smallwood	163.4		35		525		26	.5	Average
G. B. O'Farrell	66.2	••	8		238		11	••	20.19
V. F. Browne	147		27		478		21	••	21.63
V. R. Eastgate	122		19		409		15	••	22.76
R. S. Levy	60	••	6		399		14	•••	27.26
M. A. Thomas	125		12		375		12	••	28.50
					Elete -		-4	••	31.25

# HARROW SCHOOL

J. W. E. Bleackley J. D. Thicknesse W. J. Foster	16	Not outs 4	Runs 468 386	Highest inns. 131* 65	Average 36.00 25.73
B. C. G. Wilenkin A. Falcon	17	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	293 371	$\begin{array}{cccc} & 77 \\ \vdots & 100 \\ \end{array}$	24.41 21.82
	10		215	85*	21 15

# Bowling

Batting

†R. A. Jacques	Overs	N	Aaide	ns	Runs		Wicket	ts	Average
IVI. KOK	218 1	•••	53 45	••	634	• •	57		11.12
A. Falcon	875	•••	22	••	614 226	••	44	••	13.95
R. L. Feather	88		12		259	•••	15	••	15.06 23.54
J. W. E. Bleackley	140		32		405	100	12	••	23.34

# Batting

HIGHGATE S	SCHOOL
------------	--------

†W. Knightley-Smith	Innings	Not	outs	Runs	Hi	ghest inns.	Average	
R. M. Griffin	. 14	••	0	598		124	41.28	
I. D. Cave	. 15	••	3	318		68*	26.50	
J. A. Pattenden.	. 10	••	4	169	••	82*	21.12	
C. P. Juniper	15	••	4	110	••	45	13.75	
/	. 15	••		156		32*	11.14	

# Bowling

J. C. Dare	Overs	Maidens	Runs	Wickets	A verage
	UX V	22	672 402		17.23 18.27
I. E. M. Clifford	211	48	537		19.17

# Public School Cricket in 1950

# HURSTPIERPOINT COLLEGE

Batting           T. W. Palmer           M. J. Fisher           R. G. Bartlett           'G. L. Hill	11	Not outs 1 0 0 3	Run s 278 221 149 144	Highest inns. 34 89 55 53*	Average 21.38 15.78 13.54 13.09
Bowling	103.3	Maidens	Runs	Wickets	Average
N. F. R. Marsh		76	412	38	10.84
R. M. James		46	341	26	13.11
G. L. Hill		19	438	16	27.37

# KING'S COLLEGE, TAUNTON

Batting	Innings	Not o	outs	Runs	Hig	hest in 72*	nns.	Average 33.30
D. B. Gosheron	12 12	·· 2 ·· 3	::	333 288 142	::	78* 46		32.00 20.28
R. W. Fulks	8	1		191		48		17.36
D. G. Burt	11	1		144		51		14.10

Bowling	Overs	Ma	aidens		Runs	V	Vicket	s	Average
<sup>†</sup> P. A. B. Dean N. S. Bathurst			12 4	•••	334 232		29 17		13.64
J. Hunter-Watts	147		30	•••	448 276	••	29 12		15.44 23.00
D. G. Burt	81		11	•••	270		14		

# KING'S COLLEGE SCHOOL, WIMBLEDON

## Batting

Dutting	Innings	No	t outs	Runs		hest in 56*	ns.	32.00
M. F. R. Curry		••	3	160 182	••	46		18.20
R. H. Rham		••	0	159		32		15.90
K. T. W. Ambler	10	••	3	105		23		15.00
R. R. Cradick			1	135		41		13.50 13.40
†J. Wood			0	134		44	••	13.40

Bowling	Overs	N	Iaide	ns	Runs		Wicket	s	Average 11.00
J. Wood	102.5	••	32 27	···	231 343		31		11.06
M. F. R. Curry D. D. C. Belchamber	42.3		4	• • •	157 387		11 20	••	14.27 19.35
K. R. Briggs	131.1	••	18		301	••			

# KING EDWARD'S SCHOOL, BIRMINGHAM

Batting	Innings	Not outs	Runs	Highest inns.	Average 30.00
†A. J. Homer		3	420 301	. 60	20.06
P. A. Gough F. B. Revill		3	223	37	17.15
B. C. Homer	15	5	153	$ 29^* 38^*$	13.12
B. A. Hiscox		3	114	29	12.66

Rowling

# Public School Cricket in 1950

Downing	Overs	N	Aaide	-	D	OH.			
D. H. Benson	151 5	•••	35		Runs 375		Wicker 31	ts	Average
J. Hutchings O. S. Wheatley	118 3	• *•	39 36		461 278		33		12.09 13.96
	191.2		45	::	481	::	19 22	••	14.63

# KING EDWARD'S SCHOOL, STOURBRIDGE

B	atting	

E. Barrett	innings	Not ou	ts	Runs	Hig	hest inns.	Average
G. Marsh.	8	0		168		55	21.00
B. F. Fieldhouse	. 9	0		122	••	49	14.87
			• •	144		34	13 55

# Bowling

Batting

B. F. Fieldhouse M. Jewes D. J. Harrison	50	18	Runs 213 89 143	Wickets 36 13	Average 5.91 6.84
	51.5	10	143	15	0 52

# KING'S SCHOOL, CANTERBURY

	Innings	Not outs	Runs	Hig	hest in		
R. O. A. Norris	. 15	3	559	ing	110*	15.	
P. J. Walker	15		the second second second		112*	••	46.58
†B. E. Lee	. 15	0	545	••	107	• •	36.33
R. M. M. C. Mallinson.	. 15	4	395		66		30.38
G. W. Hackett	. 12	3	250		35		27.77
I M Chi	. 14	2	287	1.120	53*	1	23.91
J. M. Skinner	. 5	0	109		40		21.80
S. Young	. 13	2	133		52*	•••	12.09
J. B. Phillips	9	ō	115	••	10	••	12.09
	0 1010 05		110		40	10000	

# Bowling

I D Dhilling	Overs Maidens			Runs		Wickets	Average	
J. B. Phillips	260.1		81	-	494		36	13.72
R. O. A. Norris	139		24		354	•••		
P. J. Walker	101					••	23	15.39
P C C Harall	101	••	22	••	288		17	16.94
B. C. G. Hazell	11		19	1	186		11 20100	16.90
S. Young	123 3		15		428		21	20.20
			10		720		21	11 18

KING'S SCHOOL, ELY

# Batting

	Innings	Not outs	Runs	Hic	shest inns.	Average
M. H. Boorman	10	0		Inte		
P. Leach		0	251		64	25.10
1. Leach	. 11	0	233	1.1.1.1.1.1	50	21.18
R. M. Ray	. 10	0	201		48	20.10
†J. N. Wagstaff	12			••		
I Voune	14	·· 1	207		55	18.81
J. Young	. 12	2	176		40*	17.60
W. J. Jones	9	0	118	115 3	and the second second second	13.11
T. Tunnell	10		110	••	25	15.11
1. 1 uniter	10		102		24	11 33

# Bowling

J. V. Gowler	Overs 131	Maidens 43	Runs 366	Wickets	Average 12.20
P. Thorpe J. N. Wagstaff	143	18	402	. 25	16.08
T. Tunnell	101	15	199 . 243	. 10	19.90 22.09

# Public School Cricket in 1950

# KING'S SCHOOL, ROCHESTER

Batting         fG. R. T. Kingston         J. D. Charlton         S. J. Robbie         R. A. Montgomery         M. Perrin.	15 15 15	Not outs 1 6 1 0	Runs 368 328 138 211 140	Highest inns. 85* 100* 50* 49 21	Average 74.53 23.42 15.33 15.07 10.00
Bowling S. J. Robbie M. Perrin. G. R. T. Kingston J. A. C. Beckford-Ball.	134.4 135.1	Maidens 52 30 27 21	Runs 577 390 455 470	Wickets 48 25 29 18	Average 12.02 15.60 15.68 26.11

# **KINGSWOOD SCHOOL, BATH**

Batting	Innings	N	ot ou	ts	Runs	Hig	shest in	
N F. Lockhart	. 11		0		221		41	20.09
R.W. Bailey			3		138		39	 17.25
I.G. Smith			2		125		43	 13.88
D.T.F. Deakin			ĩ		150		64	 13.63
J.C. Tribbeck			Ô,		126		30	 10.50

## Bowling

bollang	Overs	N	Aaide	ns	Runs	1	Wicket	ts	Average
J. G. Smith	165		32		466				8.95 14.66
A. G. Moore					264				
B. W. Bailey	83		16	••	263		15		20.25

# LANCING COLLEGE

Batting	ngs Not outs	Runs Highest inns	
J.E.K. Sylvester 1	1 3	207 50* .	
A.G. Cochrane 1	3 2	279 60 .	. 25.36
	3 1	246 56 .	. 20.50

# Bowling Overs Maidens Runs Wickets Average N.G. Williams 181.3 28 592 44 13.45 S.Sydneysmith 87.3 16 315 19 16.57 A.P. F. Alexander 104.3 17 335 10 33.50

# LEEDS GRAMMAR SCHOOL

Batting	Innings	No	t outs	Runs	Highest inns	
T.A. Balmforth	. 14	2015	3	366	73* .	. 33.27
J.G. Raybould	. 11		3	181	63* .	. 22.62
S. G. Metcalfe	13		2	237	63* .	. 21.54
J.D. Hardaker	15		2	180	30 .	. 13.84
A.D. Booth			1	178	39 .	. 13.69

# Public School Cricket in 1950

Bow	ling
-----	------

	Overs	N	Iaide	ns	Runs		Wickets		
D. C. Duncan	123.2		29	1.	276		26	•	Average
J. Boyd	139.3		36	0	302		27	••	10.61
T. A. Balmforth	102.1		26		229		18	•••	11.18
M. S. Atkinson	89.4		18		234	•••	16	••	
†D. B. Hufton	95.2		7		414		17	•••	14.62
							- /	• •	24.35

# LEIGHTON PARK SCHOOL

# Batting

	Innings	Not outs			Runs	Highest inns.			Average
D. G. Taylor	. 15		4		572		71		52.00
J. B. Bartlett	. 10	/	1		150		47	••	16.66
D. H. Simmonds	12		5		110	••	39*	••	15.00
C. A. K. Fletcher			ŏ		164		42	••	10.71
C. G. Palmer	12		2		130	••	28	••	13.66
A. J. Langford	14		2	•••	120	••	20	••	13.00
1	17	••	4	••	120	••	21		10.00

# Bowling

	Overs				Runs	Wickets	Average
L. S. Wilson	29		4		107	 11	9.71
C. N. M. Taylor	93.4		9	-	289	22	13.13
J. A. Parry	171.5		29		537	38	14.13
M. F. Adlam			7		143	10	14.30
D. H. Simmonds	149.2		27		407	25	16.28

# THE LEYS SCHOOL

Datting	Innings	Not outs			Runs	Hi	ghest ir	Average	
I. S. Governor	. 13		1		355		120*		29.58
E. M. Blenkinsopp	. 14		2		300		62*		25.00
R. G. Owain-Jones	. 14		1		279		60		21.46
N. R. Nesbitt	. 13		1		220		83		18.33
J. C. H. Cunningham	. 11		0		116		34		11.54

# Bowling

Ratting

	Overs		Runs	Wicket	S	Average	
M. T. Marsden	146.5	 40	 367	 29		12.64	
D. J. W. Thomas	133.4	 17	 521	 39		13.35	
J. D. H. Broughton						20.00	

### Batting

# LLANDOVERY COLLEGE

8	Innings	Not outs			Runs	His	thest inns	. Average
†D. H. Williams	. 12		1		322		78	29.27
D. J. Harrett	. 9		1		172		64* .	
P. J. Y. Scott			3		165		48* .	. 18.33
O. M. Howell					167		61* .	. 16.70
G. F. Bowen	. 10		1		106		28* .	. 11.77

# Bowling

					Runs	Wicket	Average	
D. I. G. Taylor	172.1		37		442	 40		11.05
D. H. Williams	148.3		22		434	 25		17.36
P. J. Y. Scott	76.4		16		216	 11		19.63
D. T. Jones	87		7		282	 14		20.14

# Public School Cricket in 1950

# MALVERN COLLEGE

- 11----

Rowling

Batting

Dottino								
Batting	Innings	Not	outs	Runs	Hig	hest in	ns.	Average
R. H. Chadder	14		2	533		87		44.41
10 Rust	. 11		3	171		51		21.37
n W T. Brough	. 14		0	270		56		19.28
TRA. Macmillan	. 9		2	132		52		18.85
B I. C. E. Pegley	. 12		2	167		40		16.70
A Gregory	. 13		1	178		79		14.83
A.A. Dowdeswell	. 14		0	197		44		14.07
and the second second								
Bowling								
Dourse-B	Overs	Mai	idens	Runs	1	<b>Wickets</b>	5	Average
p.W.T. Brough	. 148.1	4	0	428		26		16.46
10. Rust		2	9	426		24		17.75
A. A. Gregory		4	3	597		33	• •	18.09
D. French			2	182		10	•••	18.20
B.J.C.E. Pegley	. 103	2	3	289		12		24.08

# MANCHESTER GRAMMAR SCHOOL

#### Batting Innings Not outs Runs Highest inns. Average 294 A. B. Shelmerdine ..... 15 .. 5 .. 9 163 R. S. Coffey ..... 17 .. ... .. .. 55 20.42 20 19 388 B.P.L. Hitchen ..... 1 ••• .. .. .. 46 267 16.68 A. Percival 3 .. .. .. J.A. Caro ..... 19 291 .. 47 16.16 1 . . .. .. 35 14.90 21 298 1 ... ... ...

Dowing	Overs	Maidens		Runs	Wicket	Average		
J.D. Potts	0.000		25		91	 13		7.00
E. J. Cuerden			43		320	 38		8.42
A. B. Shelmerdine			61		313	 37		8.46
A. J. Dover	137		42		301	 30		10.03
J. S. Peet	97		25		212	 21		10.09
D.A. Whitworth	94		22		192	 15		12.80

# MARLBOROUGH COLLEGE

G. W. Thompson O. P. Hudson R. C. Keightley J. M. Dyson W. J. Pinney D. W. Hogg M. F. Pope M. N. Morgan J. A. Kidd	$ \begin{array}{rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr$	N(	ot ou 4 1 0 5 2 0 1 2 1	its    	Runs 229 382 352 130 175 116 213 154 134	Hig	hest in 48* 52 68 66 44 36 58 28 28 29	nns.     	Average 28.62 23.87 20.70 16.25 14.58 14.50 14.20 12.83 10.31
Bowling M. N. Morgan W. J. Pinney J. A. Kidd M. F. Pope	. 250.5	M  	faide 41 82 63 21	ns  	Runs 338 646 552 212	··· ··· ··	Wicker 25 39 32 12	ts   	Average 13.52 16.56 17.25 17.66

# MERCHANT TAYLORS' SCHOOL

Batting			and the set		
P. F. Jackson †J. G. K. Ingram J. A. Prodger D. B. Ross	· 11 · 9	Not outs 4 1 1 0	Runs 374 280 115 101	Highest inns. 71* 70 44* 26	Average 46.75 28.00 14.37 10.10
Bowling R. C. Snelling	Overs 30	Maidens	Runs 74	Wickets	Average

R. C. Sheming	30	 3	 14				6.72
J. G. K. Ingram	170.3	 45	 402	123.023	25		16.08
J. A. Prodger	182.3	 45					
D. P. Stevenson			256	114 15	13	a to the large	19.69

# **MERCERS' SCHOOL**

#### Batting Innings Not outs Runs Highest inns. Average 504 .. 106\* .. 38.76 Immigs Not outs L. C. Johnson 15 2 R. V. Lord 15 2 M. H. Spink 12 2 †B. H. Ramsden 12 4 S. E. R. Andrews 14 1 467

## Bowling

	Overs	Maidens	Runs	Wickets	Average
L. C. Johnson	127	44	347	32	10.84
B. H. Ramsden	142.1	44	310	26	11.92
M. H. Spink	112	42	195	15	13.00
S. E. R. Andrews					

# MILL HILL SCHOOL

Datting	Innings	N	ot or	ite	Runs	Hi	thest in	me	Average
†J. Roberts			1		330	1116	95		36.66
D. H. R. Salter	. 9		2		185		46		26.42
L. J. R. Frayling	. 10	2.13	1	100M	109	5.00	41*		12.11
A. S. Bremner	. 10		0		121		46	••	12.10

# Bowling

TRAL

	Overs	N	Iaide	ns	Runs	Wicket	s	Average
M. G. Williams	57		5		192	 13		14.76
J. Roberts	126.5	130	14		438	 27		16.22
J. G. Dean	125		28		312	 17		18.35
A. M. Micklem	159		35		401	 16		25.06

# **MOUNT ST. MARY'S COLLEGE**

Batting					n		1		Average
T. J. Bateson	Innings 12	NC	ot out	S	Runs 269	Hig	shest in 74	nns.	24.45
J. H. E. Adams	12		1		233	1.1.1.1	74		21.18
J. P. F. Veys	. 11		5		125		48		20.83
†J. F. Power	. 10		2		133		35		16.66

# Public School Cricket in 1950

# Powling

Douring	Overs Maidens				Runs	1	Wicket	Average		
P. B. Wrigglesworth	118.1		21		328		40		8.20	
IT Maywell.	113.5		20		275		18		15.27	
I.P.F. Veys	119	••	30		278	• •	18		15.44	

# NEWCASTLE ROYAL GRAMMAR SCHOOL

Batting	Innings	N	ot ou	its	Runs	Hig	hest in	nns.	Average	2
D. R. Lowther	. 17		0		341		100		20.05	
W. B. Lowther	. 17		1		279		69		17.43	
R. Pearson			1		225		51*		15.00	
D. Younger			3		162		23		12.46	
P.E. Forster			0		173		44		11.53	

## Rowling

pon	Overs	Maidens		Runs	I	s	Average		
R. I. Franks	. 73.5		16		143		24		5.95
P.E. Forster			7		164		24		6.83
D.R. Lowther		3.1	22	2. 21	218		25		8.72
K.R. Graham			13	Corres	146		16		9.12
I.N. Watson			22		211		19		11.10
D. Younger			6	ON.	169		15		11.26
P Stephenson	And the second second		15		185	1	16		11.56

# **OAKHAM SCHOOL**

Innings	N	ot ou	its	Runs	Hig	hest in	ins.	Average
14		0		457		73		32.64
		2	1	365		88*		30.41
		3		142		35		17.75
	26	Ō	R.	245		88	2	17.50
		3		158		32	1010	14.36
and the second sec		2	1	112	and i	59	agdi	12.44
	14 14	$\begin{array}{cccccccccccccccccccccccccccccccccccc$						

# Bowling

Ratting

	Overs	I	Aaide	ns	Runs	 Wicke	ts	Average	
P.R. Forman	256.3		60		783	 33	×		
G. H. Saxton					526	 21		25.04	
R. A. Isaac	211.5		32		880	 24	• •.	35.66	

# **OUNDLE SCHOOL**

Datting									
· · · · · · · · · · · · · · · · · · ·	Innings	No	t ou	ts	Runs	Hig	thest in	nns.	Average
F.S. Price	16		2		508	1240	106*		36.28
A.J. P. Woodhouse		11	ō		165		108	6 M. 27	35.00
C. M. Lowe	15		4		274	1 4 2 4	47	200	24.90
	11		2		189		77*		21.00
M. Pickard			5	••	151		25*	- 28	16.77
R.P. Botwood	14	•1•	1	••	211		58	••	15.07
M. P. Skliros	15	••	1	••	211	••	30	••	15.07
Bowling									
	Overs	M	aider	15	Runs	1	Nicket	s	Average
M. Pickard	185.1		30	-	516		36		14.33
D I ··	248		65		534		33	11	16.18
	218.3		34		620		38	, ved	16.31
P. D. Dotter			10	••	436	•••	16		27.25
R. P. Botwood	79.2		10	••	430	• •	10	••	21.20

amina

# Public School Cricket in 1950

# PERSE SCHOOL

12.11	Innings	Not outs	Runs	Highest inns. Aver
B. S. Adams	. 15	5	624	102*
J. W. Ashman	. 8	2	101	21 02.4
J. K. Rusted	. 15	õ	235	$21$ $$ $16.8$
R. W. Dent	. 13	2	111	63 15.6
E. B. Bywater	. 15	•• 4 ••	159	33 14.6

# Bowling

A CARLEN AND A CAR	Overs	N	Iaidens	Runs		Wickets	Average:
C. B. Gadsby	88.5		23	239		23	10.20
R. A. Neaves	121 3	- 1	31	334	••	21	10.39
E. B. Bywater	74.2		17	222	••	51	
B Read	122	••	10	233	••	18	
B. Reed	122	••	10	385	••	21	18.33

# **RADLEY COLLEGE**

Datting									
Mark Market	Innings	N	ot ou	its	Runs	His	ghest in	ins.	Average
†J. de C. Hughes	15		1		495	1.000	116		35.35
J. R. M. Britten	15		2		447		141*		34.46
E. R. Dexter	15		5		319		73	•••	31.90
A. C. Walton	15		2		361		68		27.76
A. J. M. Meyrick	15		2	18123	339		59		26.08
P. J. M. Patten	12		2		232		51		23.20
M. G. Cocks	13		2	14	222		101*		20.18

# Bowling

Ratting

102 CT	Overs Maidens			Runs	۲	Wicket	Average		
R. W. Napier	72.5		14		214		12		17.83
E. M. Collinge	199.5		48		616		31		19.87
J. D. Dexter	188.5		53		461		23		20.04
E. R. Dexter			36		557		26		21.42
A. C. Walton	100.3		18		386		12		32.16

# **READING SCHOOL**

Batting									
	Innings	N	ot ou	its	Runs	His	thest in	ns.	Average
†J. C. Rudd	. 15		3		402		68*		33.50
K. Cotterell	. 14		3		202		48*		18.36
R. E. A. Steward	. 14		1		223	-	52		17.15
D. H. Bacon	. 8		1		104		33	1997	14.85
P. C. Field	. 16		0		230		42		14.37
P. A. Jarvis			1		119		34		13.22

# Bowling

m ...

	Overs	Maidens			Runs	1	Wicket	Average	
R. A. Bissolotti	213		18	17.1	372		40		9.30
J. C. Rudd	192.3		43		488		34		14.35
K. Cotterell	44.4		4		169		11		15.36
M. E. Digby	85		17		249		12		20.75
P. C. Field	111.3		29		313		14		22.35

# Public School Cricket in 1950

# **REPTON SCHOOL**

Batting           A. C. W. Lewis           D. H. Popham           I. H. Popham           J. F. M. Walker           J. M. Cropper           A. H. P. Beater           A. J. Tombling	15 17 13 14	N    	ot ou 1 2 1 1 1 3 1	its    	Runs 503 336 236 263 194 147 125	Hig	ghest in 102 79 40 67 56 49 28	nns.   	Average 35.92 22.40 16.85 16.43 16.16 13.36 10.41
Bowling           1. F. M. Walker           R. J. Howling           W. H. M. Pyne           A. C. W. Lewis           M. R. Steward	121 85	M  	laide 10 25 17 38 12	ns   	Runs 236 316 251 472 426	··· ··· ··	Wicket 19 22 16 26 14	.s   	Average 12.42 14.36 15.68 18.15 30.42

# **ROSSALL SCHOOL**

Ratting

Ratting

Datting	Innings	Not outs		Runs	Hi	ghest ir	Average		
I.A. Rhodes	. 14		7		305		80*		43.57
M.E.L. Melluish		-	4		432		74*		39.27
K. V. Holmes			3	= -	421		89		38.27
†G. P. Marsland		1000	0	1	561		107		37.40
W. Nabb			5		248	x	68		27.55
S. L. Watson		10	2	19.48	335		76		25.76
Bowling									

	Overs	Maidens			Runs	Average			
B. R. Fox	140		46		299		27		11.07
M. J. M. Collinge	165.5		54		314		28	18.1	11.21
S. L. Watson	199		62		469		36		
G. P. Marsland	214.1		65		464		32		14.50
W. Nabb	94.3		17		295		17		17.35
G. E. Smith	103		28	1	259	+	11		23.54

# **RUGBY SCHOOL**

Dutting	Innings	No	ot ou	its	Runs	Hig	hest in	nns.	Average
T. J. King	13	12.00	0		304		60		23.38
P. A. R. Greenstreet	16		0		346		73		21.62
M. R. Ludlow	15	1990	0	100	324		67		21.60
T. J. Batty	15		1		260		40		18.57
M. A. Eagar	9		1		125		33		15.62
F. Francis	14		3		151		39		13.72

# Bowling Overs Maidens Runs Wickets Average P.A. R. Greenstreet 93 .24 .249 .13 .19.15 J.J. M. Barron 160.1 .21 .572 .29 .19.72 M. D. Drury .69 .6 .280 .10 .28.00 R. A. Hunt .119 .26 .356 .11 ..32.36

# **RYDAL SCHOOL**

Batting												
E. N. Dale-Jones	. 17 . 15 . 18	Not outs 2 0 1 1	Runs 233 254 180 207 146	$\begin{array}{cccccccc} Highest inns. & Average \\ \hline & 41 & 15.53 \\ \hline & 38 & 14.94 \\ \hline & 25^* & 12.85 \\ \hline & 34 & 12.17 \\ \hline & 46 & 10.42 \end{array}$								
Bowling												
†P. W. Hughes         D. E. Cassidy         R. S. Williams         T. W. Young	. 145.1	Maidens 38 29 24 8	Runs 511 432 314 299	Wickets         Average            42          12.16            29          14.89            17          18.47            13          23.00								
ST. ALBANS SCHOOL												
Batting	S1. 11		HOOL	A A A A A A A A A A A A A A A A A A A								
L. J. Holt B. S. Ward P. L. Lord	. 9	Not outs 1 0 1	Runs 175 134 115	Highest inns. Average 53* 19.44 41 14.88 38 12.77								
Bowling		Pick Park										
L. J. Holt †H. A. F. Malden G. Giffen	. 63	Maidens 17 19 8	Runs 208 149 145	Wickets         Average            19          10.94            13          11.46            12          12.08								

# ST. BEES SCHOOL

Batting		1										
†T. W. Burgess J. N. Dowzer D. G. Holliday T. G. Ralph	9	Not outs            4             0             1             1	Runs 220 160 112 117	Highest inns. 53* 61 26 42	Average 31.42 17.77 14.00 13.00							
Bowling												
D. G. Holliday E. Nield P. I. Hall J. R. Fletcher J. W. Smith	34.3 72 55	Maidens 2 8 11 14 9	Runs 329 119 196 137 187	Wickets	Average 9.96 11.90 13.06 13.70 15.58							
ST. DUNSTAN'S COLLEGE												
Batting	and a	G	61.		R.A.M.							
† <b>D. P. T</b> homas R. J. Smith D. E. Norman	15	Not outs            0             1             0	Runs 264 308 256	Highest inns. 73 76 54	Average 26.40 22.00 17.06							
Bowling	Overs	Maidens	Runs	Wickets	Average							

	Overs	rander	Auns	WICKCLS	10.50
M. M. J. Butler	54	11	147	 14	10.50
D. E. Norman				21	12.80
B. M. Polin	133	 34	 361	 23	15.69
D. G. Elgar				 21	15.71

# Public School Cricket in 1950

# ST. EDWARD'S SCHOOL, OXFORD

...

Datte

Batting

Batting	· server the Co								
	Innings	N	ot ou	ts	Runs	Hig	hest in	ins.	Average
A. Brockman	16		2		369		67*		26.35
R. Lock	14		2		266		60*	a. A	22.16
D. S. Gilbert-Smith	14		4		217		46*		21.70
I.S. Smith	13		3		198		26		19.80
M.E. Thorne	16		0		313	-	45		19.56
D. K. Gardiner	15.		1		226		58*		16.14
P.W.H. Jackson	16		0		243		39		15.18
D. C. Thorne	15		5		127		23*		12.70
Bowling									
	Overs	M	Taide	ns	Runs	1	Wicket	s	Average
J. D. Currey	129		24		334		25		13.36
J. N. MacCaig	160.3		29		473		30		15.76
D. K. Gardiner	134		14		402		18		22.33
R. Lock	141		27		442		17		26.00
J. S. Smith	90		15		359		12		29.91
								1	

# ST. PAUL'S SCHOOL

Batting									
	Innings Not outs			Runs	His	shest in	ns	Average	
J. Krieger	15 2				273		77	21.00	
D. B. Tapley	17		1		275		58		17.18
†G. Nolan	17		1		269		68*		16.81
M. J. Rosenberg	16		1		251		57*		16.73
R.O.C. Norman	16		2		227	1.1.1	39		16.21
R. B. Atkinson	14		1		200		39		15.38
G. B. Barter	16		Õ		218	•••	55	••	13.62
	SCHOOL SET	38		201			55	••	15.02
Bowling									
	Overs	Overs Maidens						A	
R. O. C. Norman	204.2	141	31		Runs 565		Wicket: 40	5	Average 14.12
A. M. Dougall	207.3		52	••	592	••	33	••	17.93
M. Baker	183	••	37	••	452	••		••	
G. B. Barter	143	••	28	••		•••	24	••	18.83
0. D. Darter	145	••	20	••	360		19	••	18.94

# ST. PETER'S SCHOOL, YORK

	Innings	Not outs		Runs	Hig	hest in	ins.	Average	
N. M. Hodd	13		2		347		82		31.54
W. H. N. Fairweather	13		2		304		52		27.63
TP. T. Baker	12		2		263		58*		26.30
J. B. Mortimer	10		2		185		90*		23.12
J.E. B. Annequin	13		1		233		66		19.41
K. M. Ratcliff	10		2		154		36*		19.25
Por l'									
Bowling									
IT TO A	Overs	N	Taide	ns	Runs	1	Vicket	S	Average
I.J. Youll	199.2		64		426		48	1.	8.87
J.D.C. Wall	120.4		38		317		22		14.40
A. Varley	694		8		293		17		17.23
J.B. Mortimer	82.5		8		386		22		17.54

749

AA

Ratting

# Public School Cricket in 1950

# SEVENOAKS SCHOOL

Datting	Innings	N	ot ou	its	Runs	Hig	thest inns.	Average	
†P. Prodger	. 12		0		327		84	27.25	
R. I. Briars			2		223		60*	22.30	
B. J. Mitchell	. 11		4		103		14	14.71	
B. N. Keeley	. 12		1		155		46	14.09	

# Bowling

T 110

	Overs	N	laide	ns	Runs	1	N1cket	S	Average
S. G. Carmichael	128.2		36		260		36		7.22
P. Prodger	90.3		21		244		30		8.13
J. Morgan-Jones			12		162		16		10.12
I. T. B. Joyce	47		17		117		10		11.70

# SEDBERGH SCHOOL

Batting									
THE CONTRACT OF A DECISION OF A DECISIONO OF	Innings	N	ot ou	ts	Runs	Hig	hest in	nns.	Average
T. A. Good			3		145		62	•••	29.00
†P. B. Maxwell			2		250		50		27.77
J. M. Hunter	. 10		2		165		46		20.62
W. J. Downey			0		171		72		19.00
T. McClung			1		139		62*		17.37
R. W. Durrans			0		134		33		14.88
C. H. R. Allen			0		126		49		14.00

# Bowling

	Overs				Average
J. F. Jackson	58.4	 19	 110	 16	 6.87
M. H. Ainley	123.1	 46	 237	 19	 12.47
T. McClung	91	 26	 204	 13	 15.69

# SHERBORNE SCHOOL

Batting	Innings	Not outs	Runs	Highest inns.	Average
R. K. Day	. 11	1	399	80*	39.90
A. G. Stoughton-Harris		3	182	62	36.40
†F. M. Anderton	. 11	1	344	73	34.40
J. K. Walker		1	253	106*	25.30 20.80
D. I. Gillespie	. 11	1	208	/1	20.00

# Bowling

ALVIN ALVIN	Overs	Ma	idens	Runs	Wicket	tS	Average
F. M. Anderton	191	. 3	2	558	 30		18.60
P. A. Elliott				395	 19		20.78
P. T. I. Smith				532	 25	••	21.28

# SHREWSBURY SCHOOL

Batting	Innings	N	ot ou	ts	Runs	Hig	hest in	ins.	Average
*R. E. Strickland	. 17		2		378	• • • •	70	••	25.20 19.27
M. P. Ward	. 14		3		212		33*	••	17.68
I. R. V. Woods	. 16		0		283		70	••	16.75
A. W. L. MacInnes	. 15		3		201		60*	••	16.50
A. B. Horton	. 8		0		132		66	••	15.60
W. D. Latham			i		234		41	••	12.89
B. M. Smallwood			2		116		31	••	
J. M. H. Tilbury			2		145		34	••	11.15

# Public School Cricket in 1950

Bowling									
J. R. V. Woods	Overs	N	Aaide 50	ns	Runs 550	1	Wickets	5	Average
B. H. Buckley	88.1		8	an'	385	••	40 22	••	13.75
M. P. Ward			20		401		22	•••	17.50
S. H. Barber C. H. Mitchell		••	17		186		10		18.60
C. H. Mitchell	142.4	••	39		387		20		19.35

# SOLIHULL SCHOOL

# Batting

C. B. Richards S. H. J. Brabham	. 9		277	111*	Average 40.87 12.00	

# Bowling

R Rushton	Overs	N	laide	ns	Runs		Wickets	Average	
R. Rushton	70.2	••	12	••	286	••	25	 11.44	
W. J. Danter	10	••	15	••	215		10	 21.50	

# STAMFORD SCHOOL

# Batting

†M. J. K. Smith	Innings 15	N	ot ou	ts	Runs 480	Hig	thest inns.	Average
G. S. Hopper	15	•••	ő	••		••	105*	48.00
T. J. Guffick	15	•••	2	••	323	••	51	21.53
R. C. Smith.	11	••	4	••	241		60*	18.53
M. A. Martin	11	••	4	••	131		28	14.55
	13	••	2	••	135		57*	12.27

# Bowling

D.C.C. II	Overs	N	<b>Iaide</b>	ns	Runs	1	Wicker	s	Average
R. C. Smith	200.1		46		523		50		10.46
G. S. Hopper	177		22		547		41		13.34
D. G. Wood	128.2		41		272		20		13.60
J. H. Savage	84	•••	20		213		12		17.75

# STONYHURST COLLEGE

# Batting

IP. J. Leyden         W. K. Poole         P. S. Delisle         A. C. Everatt	16 15 17	Not outs 6 5 5	572 296 242	Highest inns. 78* 69* 79*	Average 57.20 26.90 24.20
P. Finch Bowling	13	··· i ···	140	·· 43 ·· ·· 38 ··	14.06 11.66
R. P. Godfrey P. G. Charnock P. Finch E. A. Morales	142	40	Runs 264 361 449 303	Wickets 20 25 23 14	Average 13.20 14.44 19.52 21.64

# STOWE SCHOOL

# Batting

	Innings	No	t outs	Runs	Highest inns.			Average
C. N. H. Hordern	. 4		2	129		50*		64.50
C. H. Lezard	. 14		3	468		91		42.54
B. C. Harris	. 12		6	225		59*	1	37.50
†H. J. Lloyd	. 13		0	400		94		30.76
H. R. V. Whitcombe			2	218		60		21.80
H. R. Herrington	. 13		ō	234		65		18.00
R. Lush	. 11		4	104		23*		14.85
	TENE'S	ET YS	1111	1.1.1.1.1.1.1.1			••	17.05
Bowling								
	Overs	Ma	idens	Runs	7	Vickets		Average
P. G. Harris			3	574		31		18.51
B. C. Harris			4	415		20		20.75
P. H. Molloy	212.2		6	708	••	31	••	22.83
		•••		100	••	21	••	44.03

# SUTTON VALENCE SCHOOL

## Batting

	Innings	N	ot ou	its	Runs	Hig	thest in	ins.	Average
C. F. Smith	. 15		3		433		75		36.08
B. L. Goodwin	. 8		1		148		68*		21.14
P. R. Anderson	. 6		0		111		35		18.50
C. L. Hart	. 15		1	211.21	252		60		18.00
†A. J. Knight	. 11		1		136		55		13.60

# Bowling

A State of the sta	Overs	N	Taide	ns	Runs	1	Wicket	ts	Average
J. A. Roper	194.3		28		634		43		14.74
A. J. Knight	143.5		14		470		31		15.16
I. N. Wilcockson	114.3		21		326		21		15.52

# TAUNTON SCHOOL

R	0	4-6	1 1	nr	r.
в	a	LE		112	5

	Innings	N	ot outs	Runs	Hig	shest in	nns.	Average	
J. Baker	. 14		2	406		72			
W. G. Lewis	. 13		1	259		80		21.58	

# Bowling

Ratting

	Overs	N	Aaide	ns .	Runs	Wicket	S	Average
J. Baker	148.1		43		328	 32		10.25
†A. F. Dibble	151.4		40		361	 23		15.70
J. J. Dunn	75.4		11	ice.	238	 11		21.63

# TONBRIDGE SCHOOL

Datting	Innings	N	ot out	s	Runs	His	ghest in	nns.	Average
†M. C. Cowdrey			2		1033		175*		79.46
K. R. Pointon			2		256		55		21.33
K. W. Pearce		•••	2	••	197		37		17.90 16.00
D. A. T. Jarratt		••	3	••	128	••	50	••	13.66
P. G. Nicholson B. D. Hatley		••	2	••	205 149	••	63	•••	12.41
D. D. Halley	. 14		4		142		51		

# Public School Cricket in 1950

1

-			
11/	W	1111	a
D			2

Doume									
	Overs	N	Taide	ns	Runs		Wicket	•	Average
K. W. Pearce	52		12		128		12		9.84
M. C. Cowdrey			41		692	••	13	••	
D. H. J. Hilary				••		•••	47	••	14.72
LE Comphell	152.2	••	50	• •	409		22		18.59
J. F. Campbell	99.2	••	27		245		13		18.84
R. B. Rutherford			33		480		21		22.85
D. A. T. Jarratt	133		26		415	-	15	•••	27.66

# TRENT COLLEGE

†N. Armstrong	Innings	Not ou	its	Runs 542	Hig	ghest in 200*	nns.	
A. J. Radley	. 13	. 1		216	••	71	••	54.20
D. Snowdon	11	2	1.000	146		45	••	18.00
L. D. Llewellyn	12	2	••	149	••	28	••	16.22
R. T. Mould	12	·· ĩ	••	121	••	20	••	14.90
		• •		141		31		11.00

# Bowling

Ratting

Batting

	Overs	N	Taide	ns	Runs		Wicket	•	Average
F. W. Norton	134		29		342				
L. D. Liewellyn	152	••	38	•••	313		10		
D. H. Gillmore	74	••	11		247	••		••	16.47
B. Record	161 4	••	50	••		••	13	••	19.00
D. Record	101.4	••	52	• •	364		17		21.41

# UNIVERSITY COLLEGE SCHOOL

Dutting					
H I D	Innings	Not outs	Runs	Highest inns.	Average
†A. J. Drew	. 11	0	170	69	15.45
J. R. Higgins	. 11	0	154	57	14.00
G. G. B. Canning	. 11	0	141	38	12.81
C. J. Parry	. 11	1	119	32	11.90
R. J. Lyon	11	1	117	42	11.70
P. J. Caston	12	0	127	31	10.58

## Bowling

DTT	Overs	N	Aaide	ns	Runs	1	Wicket	s	Average
R. J. Lyon	161.5		43		349		25		13.96
1. J. Caston	209 3		49		554		20		14 57
C. J. Parry	99.1		7		354		22	TSAL	16.09

# UPPINGHAM SCHOOL

Batting
---------

C TT M. II	Innings	Not	outs	Runs	Hi	ghest i	nns.	Average	
C. H. Maxwell	. 14	2		403		118*		33.58	
IC. K. R. Vartan	14	1		383		105	•••	29.46	
D. H. Davies	13	ô		295	••		••		
F. C. Samworth	14	0	••		••	103		22.69	
D N II	. 14	0		223		62		15.92	
R. N. Haygarth	14	0		212		61		15.14	
A. M. Corner	0	. 0		127		47		14.11	
R. J. Bennett.	13	,	•••	141	••	7/	••	14.11	
	15	•• 4		141		25		12.81	

# Bowling

R N House H	Overs	Aaide	Runs	Wickets	Average
R. N. Haygarth	93.5	27	 193	 15 .	. 12.86
R. J. Bennett.	176.3	 41	 496	 30 .	. 16.53
C. A. R. Vartan	202.2	 45	 565	 29	. 19.48
C. H. Maxwell	127	38	 328	16	20.50

# Public School Cricket in 1950

# WELLINGBOROUGH SCHOOL

# Batting

Innings No	outs Runs	Highest inns.	Average
F. J. Cook 13	2 312	73	28.36
†P. Almond 12	2 198	38*	19.80
D. J. Brawn 13	2 217	61*	19.72

# Bowling

	Overs Maidens			Runs	Wickets			Average	
B. Huckle									
M. W. White	136		34		312		18		17.33

# WELLINGTON COLLEGE

Batting

	Innings	No	t outs	Runs	HI	ghest inn	s.	Average
R. O'Brien			0	662		118		50.92
J. H. E. Whittaker			3	445		112*		44.50
R. D. W. Norris			0	289		44		22.23
<sup>†</sup> P. D. Waghorn			0	283		66		20.21
T. H. H. Wollocombe .			1	171		44		17.10
P. A. Horwood			2	157		39*		15.70
D K. Fasken			0	156		44		12.00

## Bowling

	Overs	N	<b>Iaide</b>	ns	Runs		Average
D. K. Fasken	257.5		56		661	 47	 14.06
P R Churchill	180		30		536	 31	 17.29
A. M. Douglass	134		27		312	 14	 22.28

# WESTMINSTER SCHOOL

# Batting

-	Innings	No	ot outs	Runs	Hi	ghest inr	IS.	Average
C. C. P. Williams			5.	. 690		105*		86.25
C. J. H. Davies			0.	. 279		102	••	34.87
D. G. Higgins			3.	. 277		48*	••	27.70
R. K. Pitamber	. 13		0.	. 280		67	••	21.53
A. C. Hornsby	. 12		0.	. 132	••	43	••	11.00

# Bowling

, in the second s	Overs	Maidens	Runs	Wickets	Average
J. H. Kendall	72	9	260	14	18.57 23.34
K. J. M. Kemp	168.3	26	537	23	25.34
D. G. Higgins	119	24	316	12	20.55

# WHITGIFT SCHOOL

Batting	Innings	Not outs	Runs	Highest inns.	Average
†R. Subba Row         G. Thompson         M. M. House         J. G. Hollands         M. P. Arscott	. 14 . 15 . 16 . 9	$\begin{array}{cccc} & 3 & \\ & 3 & \\ & 2 & \\ & 1 & \\ & 3 & \end{array}$	528 379 369 159 138	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	48.00 31.58 23.06 19.87 19.71 17.20
R. N. Lewis M. J. Harrison	. 11	1	172 122	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	15.25

100

# Public School Cricket in 1950

# Bowling

	Overs	N	Taider	ns	Runs	1	Wicket	c	Average
R. Subba Row	195.3		44		522		52		10.03
G. Thompson	191.3		39		530		37		11 32
R. N. Lewis	164.4	•••	43		437		16		27.31

# WINCHESTER COLLEGE

# Batting

	Innings	N	ot ou	ts	Runs	Hi	ghest inns.	Average
M. R. Coulman	. 15		0		583		200	38.86
J. L. Bryson			0		500		74	35.71
†D. W. R. Bedford			1		441		56	29.40
R. M. J. Burr			1		341	11.4	100*	22.73
I. H. McCausland	. 15		2		287		67*	22.07

# Bowling

DWD D 10 1	Overs	N	Iaide	ns	Runs	۲	Wicket	s	Average
D. W. R. Bedford	108		30		283		21		13.47
I. H. McCausland	176.4		38		504		32	•••	15.75
P. M. Stormonth-Darling			12		296		13	•••	22.76
R. J. Armitage	93		6		383		15		25.53
N. S. Agar	148.4		35		442		14		31.57

# WORCESTER ROYAL GRAMMAR SCHOOL

D D Classic	Innings	N	ot ou	its	Runs	Hig	ghest i	nns.	Average
†D. R. Claytor	. 14		4		279		113*		27.90
R. G. Woodcock	. 14		2		233		54		19.41
T. H. Hodgson	. 13		3		153		34		15.30
T. H. Clarke	. 15		0		212		41		14.13

# Bowling

	Overs	N	laide	ens	Runs	 Wicker	ts	Average
B. White	170		65		296	 33		8.96
A. G. WOODCOCK	232		62		507	53		9.56
M. A. Norman	159		36		386	 40		9.65

# WORKSOP COLLEGE

# Batting

A CALL STREET, SALES	Innings	Not outs			Runs	Hig	hest in	Average	
S. K. Waddington	. 16		1		377		85		25.13
G. M. Booth	. 10		2		167		50*		20.87
TJ. C. Wright	. 15		ō		267		60	•••	17.80
R.S. Wood	. 15	1.3	2	235	222	2	53	•••	17.07
J. W. Jago	10		ō		160		66	•••	16.00
M. R. G. Ross	14	-	3	SI TT	165	1	35		15.00
D. I. Forbes	15		õ		192		37	•••	12.80
I. G. Harrison	. 14		3		111	•••	24	•••	10.09
	Bernste					•••		••	10.09

# Bowling

n -	Overs	Overs Maidens			Runs	S	Average	
R. D. E. Brunton	90.4		27		298	 22		13.54
S. K. Waddington	137.3		20		420	 23		18.26
. C. Wright	148.2		26		519	 24		21.62
G. A. Cooke	58		2		329	 12		27.41

Ratting

# Public School Cricket in 1950

# WREKIN COLLEGE

Datting	Innings	No	ot outs	Runs	High	nest inr	19	Average
J. Heron	. 11		4	174				24.85
R. Hatch	. 13		1	271		-		22.58
P. I. Cuningham			2	163		42		18.11
J. B. R. Edwards			2	200		43		16.66
B. P. Shaw			0	221	•••	89		15.78
I. B. J. Wilson			3		•• .	34		15.75
C. P. W. Lyon	. 14	••	1	203		63	••	15.61

# Bowling

	Overs	N	Taide	ns	Runs	Wicke	ts	Average
T. D. Neville	32		4		102	 11		9.26
I. B. J. Wilson	172		26		376	 30		12.53
P. I. Cuningham	116		30		. 271	 17		15.94
C. P. W. Lyon	140		40		279	 15		18.60
R Hatch	140		28		379	17		22.29

# WYCLIFFE COLLEGE

# Batting

	Innings	N	ot ou	its	Runs	Hig	thest in	ins.	Average
D. Waymouth	. 10		6		110		34*		27.50
P. Michell			1		213		51*		21.30
J. R. Maguire	. 12		2		208		59*		20.80
V. Cox	. 10		2		119		30		14.87
P. Fisher			1		147		64*		14.70

# Bowling

P. Delan A. Taparenta State	Overs	N	Iaide	ns	Runs	 Wicket	S	Average
J. Ganz	103		20		212	 30		7.06
S. Mehta	98.1		27		210	 28		7.50
D. Pryce					191	 16		11.93

# WYGGESTON GRAMMAR SCHOOL

# Batting

and the and the second second second	Innings	Not outs	Runs	Hig	hest in	nns.	Average
I. V. Slack	. 9	3 .	. 115		32	••	19.16
M. N. Cockayne		0 .	. 102				14.57
K. Beresford		1 .	. 108		38		13.50

# Bowling

	Overs	Maidens	Runs	Wickets	Average
I. V. Slack	74.4	17	211	20	10.55
S. E. Ackhurst	79	19	214	19	11.26

# SCOTTISH SCHOOLS EDINBURGH ACADEMY

Batting	Innings	Not	outs	Runs	Hig	hest inns.	Average
†J. M. Allan	. 14		2	594		94	49.50
A. J. Grieve	. 12	"	4	269		55*	33.62
S. Muir	. 13		2	174		35	15.81 14.37
I. J. Addison			3	115		33*	13.62
H. J. L. Allan		••	3	109	••	44*	12.00
A. J. C. Cochrane	. 14		1	156		34	12.00

# Public School Cricket in 1950

Bowning	Overs	s Maidens			Runs	Average		
I. M. Allan	209.3		64		442	 45		9.82
N. J. Brow	121.3		26		259	 22		11.76
H. J. L. Allan	65		9		248	 21		11.80
R. Q. Cavenagh	123		26		359	 21		17.09

# FETTES COLLEGE

and the second standards	Innings	Not outs			Runs	Hi	shest in	Average	
†A. L. Gunn	. 13		1		424		99		35.33
D. S. Lowe			4		356		106		32.36
C. M. Parker					304		63		25.33
D. S. Young					177		34*	10	13.61
W. G. Floyd					108		21		10.80
S. A. Hay					105		41		10.50

Dowing	Overs	Maidens			Runs	Wicket	Average	
W. G. Floyd	70.2		11		196	 18		10.88
S. A. Hay						 23		11.56
R. Bowman			25			 14		16.92
J. S. Fenwick			27		250	 11		22.72

# LORETTO SCHOOL

Batting	Runs 1				- Manal				- Anna
	Innings	N	ot ou	its.	Runs	Hig	hest in	ns.	Average
†H. D. Cochran	. 15		2		328		56		25.23
N. Y. McAslan	. 12		3		183		54		20.33
H. J. Bennett	. 16		1		247		74		16.46
J. P. Stokoe	. 15	:.	1		212		31		15.14
D. N. H. James	. 15		1		204		54*		14.57
K. M. H. Millar	. 16		6		132		63*		13.20
F. G. Cochran	. 11		0		126		30		11.45
D. I. A. Craig			1		178		27		11.12

# Bowling

Batting

D-44:

Rowling

	Overs	Overs Maidens			Runs	S	Average	
E. R. L. Paton	57		9		152	 13		11.69
N. Y. McAslan			16		227	 14		16.21
J. P. Stokoe	165		28		476	 28		16.85
D. I. A. Craig	69		6		251	 14		17.92
J. J. Ballantyne	159		52		386	 21		18.38

# MERCHISTON CASTLE SCHOOL

Setting	Innings	Not outs			Runs	Hig	thest in	Average	
P. G. Smith	. 20		4		505		95		31.56
†I. S. Taylor	20		4	1.1	504		68*		31.50
D. W. Mitchell	. 15		1		285		43		20.35
W. B. M. Laird	. 16		2		182		50		13.00
J. C. Mackenzie	. 14		3		124		34		11.27

# Public School Cricket in 1950

## Bowling

LOW	Overs	N	laide	ns	Runs		Wickets		Average
J. C. Mackenzie	200.1		43		503		36		Average
J. T. Bowie	74		13		228	•••	12	••	13.97
J. M. W. Burn	121 2	••	24			••	13	••	17.53
I M Amoth	151.5	• •	24	••	402		15		26.80
J. M. Arnott	117.4	• •	10	\• •	508		16	1	31 75

# GEORGE WATSON'S COLLEGE

## Batting

THME	Innings	No	t outs	Runs	Highest inns.	Average
J. H. McDonald	14			330	77	47 44
The D. Itilley	1.7			/11X	59*	20.00
w. J. Wlassey	15			224	11	1000
A. A. S. Reid	15	•• '	0	234	60	15.60

## Bowling

	Overs	N	Taide	ens	Runs	Wickets			Average
C. A. R. Cowan	86.5		26		195		22		8.86
D. S. Stewart	66.1		20		154		15	•••	10.26
J. H. McDonald	111		27		272		21	•••	12.95
F. S. M. Thomson	45.5		5	Transie .	130		10	••	13.00
D. A. Henderson	138.5		41	•••	413	•••	22	•••	19.00
		••		• •	713		44		10.//

# TRINITY COLLEGE, GLENALMOND

## Batting

	Innings	No	ot outs	Runs	His	thest in	ns.	Average
†I. C. Burnett	. 12		1	278		88		25.27
M. R. Cornwall-Jones	. 13		2	250		93	11	22.72
J. A. H. Fletcher	. 12		1	209		73*		19.00
E. R. Paton	. 13		1	227		78		18.91
A. W. Wittet	. 9		2	110		30		15.71
J. O. Mather	. 12		3	137		33*		15.22
D. G. Sadler	. 11		1	106		23		10.60

## Bowling

	Overs	Maidens	Runs	Wickets	Average
E. R. Paton	155	49	261	29	9.00
L. B. Parker	95	19	293	16	18.31

# PUBLIC SCHOOL MATCHES IN 1950

For Eton v. Harrow, Beaumont v. Oratory, Clifton v. Tonbridge, Rugby v. Marlborough, Cheltenham v. Haileybury, Southern Schools v. The Rest, Combined Services v. Public Schools, see Other Matches at Lord's.

## LANCING v. TONBRIDGE

At Lancing, May 20. Tonbridge won by 142 runs. As in the three previous years, Cowdrey dominated the game. Despite the admirable persistence of the Lancing bowlers and fielders, he scored at a great pace all round the wicket. Then he dismissed three batsmen for 17. Williams took six for 80 for Lancing.

#### Tonbridge

<ul> <li>R. D. L. Spurring st Crawford b Williams</li></ul>	<ul> <li>P. G. Nicholson c Lawson b Williams</li> <li>J. F. Campbell b Williams</li> <li>D. A. T. Jarratt not out</li> <li>A. G. Vivian lbw b Harvey</li> <li>R. B. Rutherford not out</li> <li>B 5, 1-b 2, w 1</li> <li>Nine wkts., dec. 2</li> </ul>
K. R. Pointon lbw b Sylvester 13	Nine wkts., dec. 2

## Lancing

C. R. B. Smart c Nicholson b	1
Jarratt	
A. G. Cochrane c and b Campbell 1	
R. H. Lawson st Vivian b Cowdrey 10	
N. G. Williams b Rutherford 6	
A. P. F. Alexander b Pearce 17	
J. E. K. Sylvester lbw b Cowdrey 36	1

		Nine	wk	ts., dec.	2	28
		Crawford				9
S. S	ydney	smith b Ru	ithe	rford		1
		es-Llovd h				Ő

B 4, 1-b 1 ..... 5 86

# **ROSSALL v. DENSTONE**

At Rossall, May 24, 25. Rossall won by ten wickets. After gaining a narrow first innings advantage, Rossall gave an impressive display of keen, aggressive out-cricket. Marsland and Fox bowled particularly well and nothing was missed in the field.

## Denstone

M. J. Amps b Marsland D. E. T. Mather c Melluish b Smith D. E. Cook b Watson S. D. Hignell c Collinge b Smith A. C. Dracup c Sharrock b Nabb W. G. Tobias b Smith M. A. Verity c Watson b Marsland L. W. Amps b Smith P. K. Fairclough b Collinge J. D. Short not out B. W. Mills b Collinge Extras.	43 — c Melluish b Collinge         20 — b Fox         6 — c Nabb b Fox         1 — b Smith         2 — c Smith b Watson         13 — c Fox b Watson         18 — lbw b Marsland         7 — b Marsland         0 — b Marsland	50056160571
	130	51

## Public School Cricket in 1950 Rossall S. L. Watson run out ..... 15 M. J. M. Collinge c Short b Tobias ..... I. W. Glenton c Dracup b Tobias ..... M. Sharrock b Tobias ..... 6 B. R. Fox not out ..... 1 G. E. Smith b Tobias ..... 0 Extras..... 12 Extras ..... 5

168 SHERBORNE v. CLIFTON

At Sherborne, May 27. Clifton won by 57 runs. A. J. Smith, a leg-break bowler, provided the feature of an interesting game between well-matched opponents by taking all ten Sherborne wickets. His full analysis read: 20.1-8-34-10. The most effective Sherborne bowler was P. T. I. Smith, another legspinner.

## Clifton

R. P. Rankine b Anderton	A. J. Smith c O'Connor b Elliott. 2 J. D. C. Rees not out 23 T. J. Rowberry c and b Anderton 7 P. M. Carruthers st Horn b Smith 1 Extras
Sherborne	Ask J. Alexander o Pennie . 17

R. K. Day c Rankine b Smith 22 J. K. Walker b Smith 24 F. M. Anderton st Rankine b Smith 0 D. I. Gillespie c Callinan b Smith 9 K. A. O'Connor st Rankine b Smith 0	P. T. I. Smith Ibw b Smith 5 P. A. Elliott st Rankine b Smith 10 G. E. Wallace not out 1
J. Rydon c Rees b Smith 0 T. J. Horn b Smith 0 A. G. Stoughton-Harris st Rankine b Smith 20	Extras

## **RUGBY v. OUNDLE**

At Rugby, June 1. Oundle won by seven wickets. Lowe, the Oundle captain, bowled excellently in taking six wickets for 46, and, despite the early loss of Price, his batsmen responded well.

## Rugby

<b>r</b> . Francis D Pickard 6 1 122	T. J. Batty c and b Lowe3M. A. Eagar c Massey b Lowe.4T. J. Cowgill c Price b Lowe.9P. A. R. Greenstreet c and b Lowe3M. R. Ludlow b Botwood.47D. E. Freeman Ibw b Whittle.4F. Francis b Pickard6	R. A. Hunt b Whittle
--------------------------------------	---	----------------------

## Public School Cricket in 1950

## Oundle

M. J. O. Massey c Greenstreet b Feather	C. M. Lowe not out 16
F. S. Price c Fergusson b Hunt 0 N. W. Milligan Ibw b Feather 28	Extras 10
M. P. Skliros not out	Three wkts. 123

R. P. Botwood, P. C. Cohen, J. M. Pickard, J. M. Fetherston, A. R. Armitage and A. C. Whittle did not bat.

## **TONBRIDGE v. BEDFORD**

At Tonbridge, June 2, 3. Drawn. A stirring match ended with Tonbridge struggling to prevent yet another defeat by Bedford. Hogg and Briggs put on 110 in an hour in the first Bedford innings and Cowdrey played a sparkling innings for Tonbridge.

#### Bedford

No wkt. 19

D. A. W. Evans c Vivian b Jarratt M. S. Meeson b Pointon	. 7.	
C. D. Miller lbw b Rutherford D. R. Wynn-Williams c Jarratt b Ruther		- Ibw b Jarratt I
ford	. 20 .	
D. A. Briggs c Vivian b Rutherford		
R. I. T. Hogg c Nicholson b Rutherford	d 61	— c Vivian b Cowdrey 5
R. L. Cartwright lbw b Jarratt		
M. H. J. Allen c and b Pearce		
P. A. Mounfield c and b Pointon	. 5	not out 4
F. S. Steven b Pointon	. 0	shurt is he halled it hades in Young
J. S. Steven not out		
Extras		Extras 20
		A Alexand Charles of Alexandre A
	231	Seven wkts., dec. 114

## Tonbridge

R. D. L. Spurring c J. Steven b Mounfield	1  0  - c F. Steven b Allen 2	2
M. Musson c Meeson b Cartwright	13 — c Cartwright b Allen 1	
M. C. Cowdrey c F. Steven b Mounfield.		
K. W. Pearce c Mounfield b Allen		
P. G. Nicholson b Mounfield		
B. D. Hatley Ibw b Mounfield		
K. R. Pointon lbw b Cartwright		
J. F. Campbell b Cartwright		
D. A. T. Jarratt not out		
R. B. Rutherford lbw b Allen		)
A. G. Vivian c Mounfield b Allen	W. M. Marris Wilson & Clasher 0	
Extras	. 6 Extras 5	5
	-Caulting	
	161 Eight wkts. 70	)

## STONYHURST v. SEDBERGH

At Stonyhurst; June 3. Stonyhurst won by four wickets. Godfrey (seven for 31) caused Sedbergh to collapse after a good start. By contrast, Stonyhurst began disastrously against Ainley but recovered through Leyden and Poole.

## Sedbergh

# Stonyhurst

· · · · · · · · · · · · · · · · · · ·	J. M. Pigot run out
	125

E. A. Morales, R. P. Godfrey and P. G. Charnock did not bat.

# CHARTERHOUSE v. ETON

At Charterhouse, June 6. Eton won by 123 runs. After consistent batting by Eton, only J. W. H. May and M. Burton-Brown offered prolonged resistance to R. V. C. Robins (six for 40).

## Eton

D. C. Watney c Varcoe b Young. 54	N. C. Wadham c Burton-Brown
J. D. Montagu lbw b Chadwick 26	b Chadwick
M. D. M. Sellar st Jenks b Young 53	P. L. Eckersley c Jenks b May 0
A. C. D. Ingleby-Mackenzie not	J. S. Guthrie b Chadwick 5
out	E. R. P. Wilson not out
P. A. Metaxa b Chadwick 0	$\mathbf{D}_{\mathbf{A}}$ <b>D</b> $\mathbf{A}_{\mathbf{A}}$ <b>D</b> $\mathbf{A}_{\mathbf{A}$
R. T. Gardiner-Hill c Donne b	B 4, 1-b 4 8
Voung 10	
Young 10	Eight wkts., dec. 257

R. V. C. Robins did not bat.

## Charterhouse

M. Burton-Brown st Wilson b Robins	M. G. Varcoe c Guthrie b Robins 10 E. F. G. Peck c Eckersley b Robins 0 M. D. C. Jenks c Watney b Robins 14 S. Stevenson not out 1 C. M. Chadwick b Robins 1 B 6, 1-b 3 9
C. H. W. Robson c Wilson b Guthrie 1	134

# HAILEYBURY AND I.S.C v. WELLINGTON

At Haileybury, June 7, 8. Wellington won by 120 runs. Splendid fast-medium bowling by Fasken, who gained match figures of 35-12-46-10, enabled Wellington to win against the clock. Fasken finished the first Haileybury innings with the "hat-trick" and the second by taking six wickets for six runs in five overs.

## Wellington

11	
R. O'Brien c Smallwood b Browne	97 — c Eastgate b Smallwood 30
p D Waghorn b Thomas	$\dots 21 - c$ Freeman b Browne $\dots \delta$
I. H. E. Whittaker b Smallwood	10 — b Eastgate 24
T. M. H. Wollocombe b Smallwood	3 — b Levy 44
T. M. H. Wonocombe o Smanwood	31 - b Browne
R. D. W. Norris c and b Prosser	$51 - 0$ blowine $$
N P C. Dobbs c Smallwood b Prosser	$5 - 1bw b Smallwood \dots 0$
P. A. Horwood run out	35 — not out
P. A. Horwood Fun Car Free P. A.	0 - not out 4
D. K. Fasken b Browne	
P. R. Churchill not out	3
A. M. Douglass st Freeman b Eastgate	0
A. W. Douglass se i reemain o Eusegue	A REALIZED CONTRACT STRUCTURE OF TO THE
P. H. Hills run out	
Extras	13 Extras 14
	225 Six wkts., dec. 182

Public School Cricket in 1950

# Haileybury and I.S.C.

A. D. G. Nicholas st Whittaker b Churchill17 — not out5R. W. Ellis run out2 — b Churchill5S. J. Kilbourn c and b Churchill32 — b Norris18D. H. Bicknell c Norris b Churchill32 — b Norris21V. R. Eastgate c Fasken b Churchill13 — b Churchill1V. R. Eastgate c Fasken b Churchill39 — b Fasken17R. S. Levy not out35 — b Fasken6P. S. J. W. Prosser st Whittaker b Churchill1 — b Fasken0M. A. Thomas b Fasken4 — c Douglass b Fasken3A. L. Freeman b Fasken01 — b Fasken0P. J. C. Smallwood b Fasken1 — b Fasken0I — b Fasken01 — b Fasken0
A. L. I Icellian of asken
201 86

# MARLBOROUGH v. ETON

At Marlborough, June 10. Tied. In a tense atmosphere Robins and his captain, Guthrie, raised the Eton total from 74 to 115. Then Morgan, after tying the scores by bowling a no-ball, ended the suspense by clean bowling Robins. Robins took seven Marlborough wickets for 33 runs with leg-breaks.

## Marlborough

0. P. Hudson b Eckersley7R. C. Keightley b Robins	M. N. Morgan b Robins       1         J. A. Kidd b Robins       0         W. J. Pinney b Robins       4         G. C. F. Openshaw b Robins       21         J. M. Dyson not out       0         B 16, 1-b 2       18         116
Eton	

D. C. Watney c Coates b Kidd 10	P. L. Eckersley b Kidd 3
J. D. Montagu b Morgan 6	J. S. Guthrie not out 21
M. D. M. Sellar b Kidd 21	E. R. P. Wilson lbw b Morgan 0
A. C. D. Ingleby-Mackenzie b	R. V. C. Robins b Morgan 20
Pinney 6	B 15, n-b 1 16
P. A. Metaxa b Pinney 0	
R. T. Gardiner-Hill b Morgan 3	
N. C. Wadham run out 10	116

# Public School Cricket in 1950

# WINCHESTER v. HARROW

At Winchester, June 13. Harrow won by 23 runs. Batsmen failed to take advantage of the easy-paced pitch and bowlers dominated the game. McCausland (five for 33) worried all the Harrow batsmen with off-breaks, and Winchester fared even worse against the medium-pace of Jacques, Kok and Falcon.

## Harrow

B. C. G. Wilenkin c Coulman b	L. E. Peterken st M. Scott b
Agar	McCausland
XX7	

### Winchester

R. M. J. Burr c Wilenkin b Jacques C. F. Foster c Kok b Falcon M. R. Coulman b Falcon J. L. Bryson b Kok D. W. R. Bedford b Kok I. H. McCausland b Jacques M. H. Morse b Kok	5         N. S. Agar b Jacques         12           12         M. D. Scott not out         12           3         R. J. Armitage b Jacques         10           12         Extras         5

# SHREWSBURY v. ROSSALL

At Shrewsbury, June 13, 14. Drawn. Rossall lost the initiative through surprising lapses in the field and they were struggling to avoid defeat at the close. Horton hit very hard in the second Shrewsbury innings.

## Shrewsbury

DE Ctuisland 1 Mr. 1 1	
R. E. Strickland b Marsland	3 - c Watson b Marsland 0
J. R. V. Woods c Marsland h Colling	ra 22 L Weit
CICUIII h Far	3 - c watson b Marsland 0 ge $32 - b$ Watson 15
W. D. Latham c Marsland h Watson	10 Dhadaal W
I M H Tilbum a Dhadaal Matson	12 $10$ $-$ c Rhodes b Watson $12$
B. M. Smallwood Ibw b Watson	0 not out 10
M P Ward h For	$21 - not out \dots 19$
A W I MacInnes not out	$\dots$ 29 — b Collinge 31
A D TI	$\dots 29 - b$ Collinge 31
C. H. Mitchell run out	····· 0 — 0 Shintin ······ 00
	0
Extras	18 Extras 11
A STREAM OF A CONTRACT OF A	LAUID
The second state of the second state of the second state of the	140 Six wkts., dec. 207
D	DIA WALS., UCC. 201

Rossall

M. E. L. Melluish c Ward b Woods	28 a Mitchall h Ward 14
K. V. Holmes Ibw b Woods	13 bit with b Duchlass
G. P. Marsland b Ward	13 - 11 h Wooda $12$
D. L. Watsoff C Buckley D Witchell	A h Mitchall 0
1. A. Mildues C Smallwood D Blickley	8 - not out 10
	24 - C Mitchell h Woods 18
M. J. M. Collinge C. Wacinnes h Buckley	() Conclusion of h Mitchell ()
I. W. Olemon D Ward	$1 - \text{not out} \dots 0$
M. Sharrock c and b Buckley	Q
B. R. Fox not out	14
Extras	3 Extras 1
Eight wkts., dec. 1	
G. E. Smith did not bat.	I44 Six wkts. 64

## Public School Cricket in 1950

# ST. PETER'S, YORK v. AMPLEFORTH

At York, June 14. St. Peter's won by 53 runs. Hodd and Fairweather provided the only serious resistance to Tarleton and Tate. Youll bowled even better, taking six Ampleforth wickets for 35.

## St. Peter's, York

P. A. Mitchell b M. Corbould hit

E. D. Thornton lbw b Tarleton       1         J. E. B. Annequin b Tarleton       1         N. M. Hodd b Tate       82         P. T. Baker lbw b Tarleton       0         W. H. N. Fairweather c Tate b       Mitchell         Mitchell       50         J. B. Mortimer st Hattrell b Tate       12         K. M. Ratcliff c Mitchell b Tarleton       16	J. D. C. Wall st Hattrell b Tate 4 R. M. Hodgson c Bradley b Tate 10 J. J. Youll not out 0 P. D. F. James b Tate 0 Extras 22 198
Ampleforth           M. Tate b Youll         0           M. Fisher b Youll         0	P. Vincent not out

WI. 1 alo 0 1 0 all	
	M. Hattrell st Baker b James 9
	O. Wynne b Thornton 15
	C. Clapham lbw b Youll 5
J. G. Faber c Ratcliff b Mortimer 8	Extras 6
P. A. Mitchell b Youll 9	- Harrison o Caranelozed brittell
M Corbould hit wkt b Mortimer. 18	145

# **RADLEY v. BRADFIELD**

At Radley, June 16, 17. Drawn. The previous highest individual score-140in a series dating back to 1853, was exceeded on consecutive days by Britten and Lee, the Bradfield captain. Lee also took five wickets for 82 in the Radley first innings.

## Radley

Radley		
J. R. M. Britten not out	.141 -	- st Fetherstonhaugh b Short. 44
M. G. Cocks b Lee		
A. C. Walton c Broad b Short		- c Fetherstonhaugh h Quar-
A. C. Walton C Droad o Short	• ~	rington 28
E.D. Dawton h Chant	2	Ingron
E. R. Dexter b Short		- 0 Lee
J. de C. Hughes lbw b Short		
P. J. M. Patten Ibw b Quarrington		- c Blanford b Short 5
A. J. M. Meyrick c Broad b Lee		$-$ not out $\ldots$ 3
R. J. Moore b Lee	. 0	
R. W. Napier b Lee	. 0	
E. M. Collinge b Lee	. 0	
J. D. Dexter not out	. 3	
Extras		Extras 1
Nine wkts., dec.	284	Five wkts. 117
Bradfield		
Bradfield	2	h I Dautan
J. L. Quarrington b J. Dexter		– b J. Dexter 2
J. L. Quarrington b J. Dexter C. B. R. Fetherstonhaugh b E. Dexter	. 12	– b J. Dexter 2
J. L. Quarrington b J. Dexter C. B. R. Fetherstonhaugh b E. Dexter J. M. Chaffer Ibw b Collinge	· 12 · 12	– b J. Dexter 2
J. L. Quarrington b J. Dexter C. B. R. Fetherstonhaugh b E. Dexter J. M. Chaffer lbw b Collinge M. E. Taylor c Patten b Walton	. 12 . 12 . 1	
J. L. Quarrington b J. Dexter C. B. R. Fetherstonhaugh b E. Dexter. J. M. Chaffer lbw b Collinge M. E. Taylor c Patten b Walton D. J. Kerr b E. Dexter	. 12 . 12 . 1 . 8 -	<ul> <li>b J. Dexter 2</li> <li>c J. Dexter b Collinge 7</li> </ul>
J. L. Quarrington b J. Dexter C. B. R. Fetherstonhaugh b E. Dexter J. M. Chaffer Ibw b Collinge M. E. Taylor c Patten b Walton D. J. Kerr b E. Dexter . N. L. Denham run out	. 12 . 12 . 1 . 8 - . 16	
J. L. Quarrington b J. Dexter C. B. R. Fetherstonhaugh b E. Dexter J. M. Chaffer Ibw b Collinge M. E. Taylor c Patten b Walton D. J. Kerr b E. Dexter N. L. Denham run out C. J. Lee b Dexter	. 12 . 12 . 1 . 8 - . 16 . 145	
J. L. Quarrington b J. Dexter C. B. R. Fetherstonhaugh b E. Dexter J. M. Chaffer Ibw b Collinge M. E. Taylor c Patten b Walton D. J. Kerr b E. Dexter . N. L. Denham run out	. 12 . 12 . 1 . 8 - . 16 . 145	
J. L. Quarrington b J. Dexter C. B. R. Fetherstonhaugh b E. Dexter J. M. Chaffer Ibw b Collinge M. E. Taylor c Patten b Walton D. J. Kerr b E. Dexter N. L. Denham run out C. J. Lee b Dexter	. 12 . 12 . 1 . 1 . 8 - . 16 . 145 . 7 . 26	- c J. Dexter b Collinge 7
J. L. Quarrington b J. Dexter C. B. R. Fetherstonhaugh b E. Dexter. J. M. Chaffer lbw b Collinge M. E. Taylor c Patten b Walton D. J. Kerr b E. Dexter N. L. Denham run out C. J. Lee b Dexter J. J. Broad b Walton W. Laimbeer c Cocks b E. Dexter	. 12 . 12 . 1 . 1 . 8 - . 16 . 145 . 7 . 26	- c J. Dexter b Collinge 7
J. L. Quarrington b J. Dexter C. B. R. Fetherstonhaugh b E. Dexter. J. M. Chaffer lbw b Collinge M. E. Taylor c Patten b Walton D. J. Kerr b E. Dexter N. L. Denham run out C. J. Lee b Dexter J. J. Broad b Walton W. Laimbeer c Cocks b E. Dexter M. Blanford c Cocks b Hughes	. 12 . 12 . 1 . 8 - . 16 . 145 . 145 . 7 . 26 . 29 -	
J. L. Quarrington b J. Dexter C. B. R. Fetherstonhaugh b E. Dexter J. M. Chaffer Ibw b Collinge M. E. Taylor c Patten b Walton D. J. Kerr b E. Dexter N. L. Denham run out C. J. Lee b Dexter J. J. Broad b Walton W. Laimbeer c Cocks b E. Dexter M. Blanford c Cocks b Hughes P. P. Short not out	. 12 . 12 . 1 . 8 - . 16 . 145 . 445 . 26 . 29 - . 3	- c J. Dexter b Collinge 7 - not out 2
J. L. Quarrington b J. Dexter C. B. R. Fetherstonhaugh b E. Dexter. J. M. Chaffer lbw b Collinge M. E. Taylor c Patten b Walton D. J. Kerr b E. Dexter N. L. Denham run out C. J. Lee b Dexter J. J. Broad b Walton W. Laimbeer c Cocks b E. Dexter M. Blanford c Cocks b Hughes	. 12 . 12 . 1 . 8 - . 16 . 145 . 445 . 26 . 29 - . 3	- c J. Dexter b Collinge 7
J. L. Quarrington b J. Dexter C. B. R. Fetherstonhaugh b E. Dexter J. M. Chaffer Ibw b Collinge M. E. Taylor c Patten b Walton D. J. Kerr b E. Dexter N. L. Denham run out C. J. Lee b Dexter J. J. Broad b Walton W. Laimbeer c Cocks b E. Dexter M. Blanford c Cocks b Hughes P. P. Short not out	. 12 . 12 . 1 . 8 - . 16 . 145 . 445 . 26 . 29 - . 3	- c J. Dexter b Collinge 7 - not out 2

# BRIGHTON v. LANCING

At Brighton, June 17. Lancing won by 102 runs. Good stands between Williams and Alexander and Crawford and Sydneysmith helped Lancing to make a substantial score. Smith hit boldly for Brighton.

## Lancing

D. H. Durant lbw b Parsons 24 C. R. B. Smart b Kemp 2 A. G. Cochrane run out 7 R. H. Lawson b Pye 9 N. G. Williams c Ince b Parsons 56 A. P. F. Alexander Ibw b Pye 24 J. E. K. Sylvester b Gibson 5 D. O. Jones-Lloyd did not bat.	C. J. S. Crawford not out 40 J. K. Hall c Smith b Parsons 4 S. Sydneysmith not out 32 Extras
D. O. Jones-Lloyd did not bat.	

## **Brighton**

J. P. I. B. R. A.	B. D. Parsons c Cochrane b Alexander A. Ince lbw b Williams Kemp c Crawford b Hall J. Glassborow lbw b Williams. Hersh c Williams b Hall W. Frizell run out F. Holker c Crawford b Jones-	$ \begin{array}{c} 1\\ 11\\ 24\\ 2\\ 4\\ 0 \end{array} $	G. C. Smith c and b Alexander 48 I. O. Dowding c Hall b Jones- Lloyd 0 D. W. Pye b Hall 1 J. S. Gibson not out 2 Extras 21
	Lloyd	0	at manufacture in a second sec
	Lloyd	0 1	114

# CHARTERHOUSE v. WESTMINSTER

At Charterhouse, June 17. Charterhouse won by four wickets. An admirable innings by Donne enabled Charterhouse to win in spite of fine bowling by Kemp (five for 46). The result might have been very different had Williams not been run out when well set.

## Westminster

C. J. H. Davies b Chadwick 0 A. C. Hornsby c and b Young 27 R. K. Pitamber c and b May 4 D. G. Higgins b Chadwick 9 C. C. P. Williams run out 35 R. T. Robinson c Jenks b Stevenson 26	K. J. M. Kemp b Stevenson       0         J. H. Kendall not out       0         S. L. C. Tester b Stevenson       0
A. P. M. Woodward Ibw b Steven-	Extras 15
son	120

# Charterhouse

M. Burton-Brown b Kemp	10 1	C. H. W. Robson b Kemp 6
M. C. Donne not out	50	M. G. Varcoe c Hornsby b Kemp 10
M. R. P. Young c Hornsby b Kemp	26	E. F. G. Peck not out
J. W. H. May c Hornsby b Kemp	1	
G. E. R. Lloyd c Tester b Kendall	17	Six wkts. 127
ND GII GG		

M. D. C. Jenks, S. Stevenson and C. M. Chadwick did not bat.

## WINCHESTER v. CHARTERHOUSE

At Winchester, June 20. Drawn. Although overplayed, Charterhouse managed to play out time, thanks mainly to a dour display by Peck. Bedford delayed his declaration overlong but enjoyed a personal triumph with both bat and ball (six for 31).

## Public School Cricket in 1950

# 767

#### Winchester

R. M. J. Burr b May 35 D. W. R. Bedford c Chadwick b	I. H. McCausland not out 67 J. R. S. Maclure b Chadwick 4
Stevenson	Extras
Stevenson 44	Five wkts., dec. 241

G. P. Scott, C. F. Foster, M. D. Scott, N. S. Agar and R. J. Armitage did not bat

## Charterhouse

M. Burton-Brown b Bedford 1 M. C. Donne b Bedford 19 M. R. P. Young Ibw b Bedford 4 J. W. H. May c Bryson b Bedford 38 G. E. R. Lloyd c Coulman b	M. G. Varcee c Foster b Bedford. 8 E. F. G. Peck not out
McCausland	Eight wkts. 117

C. M. Chadwick did not bat.

## **DENSTONE v. STONYHURST**

At Denstone, June 20, 21. Drawn. Splendid batting by Leyden saved Stonyhurst from probable defeat. Curry and Fairclough bowled well for Denstone and Charnock took five for 49. Tobias also played two good innings.

#### Denstone

M. J. Amps b Morales	
D. E. T. Mather lbw b Charnock	30 — st Pigot b Morales 16
D. E. Cook b Charnock	7 — c Everett b Charnock $$ 16
S. D. Hignell c Lupton b Charnock	0 - run out 12
A. C. Dracup c and b Finch	
W. G. Tobias b Finch	
M. A. Verity Ibw b Finch	
L. W. Amps c Lupton b Charnock	
P. K. Fairclough b Charnock	
J. D. Short not out	
J. R. F. Curry b Courtney	
Extras	14 LAtids
	193 Six wkts., dec. 131
A.M. ATTRUST A NEW DESTRICT	193 Six wkts., dec. 131
Stonyhurst	
A. C. Everatt run out	10 — 1bw b Cook 8
E. A. Morales c Dracup b Curry	1 — b Cook 1

E. A. Morales c Dracup b Curry P. J. Leyden not out W. K. Poole c Short b Fairclough	. 1 — b Cook . 78 — lbw b Curry . 1 — not out	$\begin{array}{cccc} & 1 \\ & 29 \\ & 0 \end{array}$
P. S. Delisle b Cook J. M. Pigot st Dracup b Short P. Finch b Fairclough	$\begin{array}{c} 11 - b \text{ Tobias } \dots \\ 5 - not \text{ out } \dots \end{array}$	14
T. D. Lupton c Tobias b Fairclough M. Courtney b Fairclough R. Guyer b Curry P. G. Charnock b Curry	. 6	
Extras		HI D.

# WREKIN v. WORKSOP

At Wrekin, June 23, 24. Wrekin won by an innings and 86 runs. Wrekin gave a grand exhibition of efficient out-cricket in twice dismissing Worksop for under 100. Wrekin lost four wickets quickly, but Hatch gained strong support from the tail, particularly Neville, who crowned a good innings by taking six wickets for seven runs in the Worksop second innings.

## Worksop

M. R. G. Ross b Lyon D. T. Forbes c and b Wilson	8 — 1bw b Neville 17
S. K. Waddington st Denson h Wilson	13 - 0 Hatch $0$
J. C. Wright run out	$13 - 6$ Cuningham $\dots 10$
J. B. Somers c Denson b Grundy	12 - 6 Neville
I. G. Harrison c Heron b Wilson C. D. Robinson c Denson b Hatch	4 — not out
G. A. Cooke b Lyon H. P. Shaw not out	6 - b Neville
Extras	0 — b Neville 0 2 Extras 15
	77
Windhim	

## Wrekin

J. B. R. Edwards b Wright 1	P. I. Cuningham c Wood b Wad-
J. I. Gartside c Cooke b Wadding-	dington

# STOWE v. OUNDLE

At Stowe, June 24. Oundle won by seven runs. The consistent fast-medium bowling of Armitage (six for 64) proved the deciding factor in an exciting game. Price batted attractively and Whitcombe and Lezard put on 64 for the third Stowe wicket.

## Oundle

M. J. O. Massey c Molloy b P. Harris.6F. S. Price c Grice b P. Harris.41N. W. Milligan c Malden b Lush.6M. P. Skliros b B. Harris.34C. M. Lowe b P. Harris1A. J. P. Woodhouse b P. Harris.17J. M. Pickard lbw b B. Harris.0	J. M. Fetherston run out 14 R. P. Botwood st Grice b Lloyd 24 A. R. Armitage c Whitcombe b Lloyd
Stowe	
H. J. Lloyd c Picard b Armitage. 6 C. C. Malden lbw b Armitage 0 H. R. V. Whitcombe c Skliros b Armitage	R. Lush c Price b Armitage21 P. G. Harris c Armitage b Lowe6 P. H. Molloy c Skliros b Armitage 0 W. J. Grice c Skliros b Armitage0 Extras9 163

## ETON v. WINCHESTER

At Eton, June 30, July 1. Drawn. Coulman again played a leading part for Winchester in the annual match with Eton. His scores of 28 and 200 followed imings of 47, 27 not out, 55 and 102 not out against the Eton bowlers in the previous two years. On a perfect pitch, Bedford and Burr began with a stand of 83 for Winchester, but the later batsmen did not rise to the occasion. Eton also collapsed after a good start, and from 70 for none the score went to 119 for five. Metaxa and Wadham checked the breakdown by spirited hitting, and the remaining batsmen all played well. Little prospect remained of a definite result when Winchester batted again. Robins, only 15 years old, bowled leg-breaks well without much luck.

#### Winchester

p. W. R. Bedford c Wilson b Guthrie	53 — b Robins 55
R. M. J. Burr b Robins	
M. R. Coulman b Eckersley	28 — c Eckersley b Guthrie200
J. L. Bryson c Guthrie b Robins	3 - 1bw b Guthrie $0$
I. H. McCausland b Wadham	20 — b Guthrie 10
C. F. Foster c Ingleby-Mackenzie b	
	15 - b Robins 10
G. P. Scott b Eckersley	3 - b Robins
J. R. S. Maclure not out	37 - st Wilson b Robins 6
N. S. Agar b Wadham	0 - c Metaxa b Guthrie 6
M. D. Scott b Montagu	
R. J. Armitage b Wadham	
B 17, 1-b 5, n-b 3	25 B 7, 1-b 4 11

219

#### Eton

D.C. Watney c G land J.D. Montagu c I M. D. M. Sellar A. C. D. Ingl M. Scott b Arr P. A. Metaxa b M B. C. Gordon I b Agar N. C. Wadham c Eton Bowling	Bedford b G. So eby-Ma nitage AcCaus Lennox	l b G. Sco cott ackenzie sland c Brys	36 ott 44 2 st 4 93 on 16	J. S. C land R. V. McC E. R. J	C. Robin C. Robin Causland P. Wilson r 8, 1-b 7	aclure b ns c M not out.	McCau Scott	s- b 17 8
	0.	М.	R.	W.	0.	M.	R.	w.
Wadham	16	5	34		16	5	46	0
Eckersley	13	3 2 5 2	39	2	11	2 5 9	34	0
Robins	18	2	67	2	30	5	125	55
Guthrie	18	5	41	1	30.2		99	5
Montagu	5	2	13	. 1 .	2	0	3	0
			Gord	don-Leni	10x 8	0	17	0
Winchester Bo	owling							
Agar	33	5	91	2				
Bedford	18	3	56	0				
McCausland	24	2	107	4			A stephel	
Armitage	16	1	52	2				
G. Scott	12	4	35	2				

From 1826 to 1854 inclusive the match was played at Lord's, but since 1855 (when the sides met at Eton) the games have taken place alternately on the Eton and Winchester grounds.

Excluding the one-day war-time matches, the sides have met 109 times. Eton have won 53 and Winchester 27, one has ended in a tie, and 28 have been

RESULTS SINCE THE WAR

- 1947 No match (illness).
- Winchester won by nine wickets. 1948
- 1949 Drawn. 1950 Drawn.

# DOWNSIDE v. BLUNDELL'S

At Downside, July 8. Blundell's won by 44 runs. Put in to bat on a wet pitch, Blundell's began satisfactorily. After lunch, however, the turf dried and Adamson finished off the innings with a spell of six for 11 in seven overs. Cummings and Nicholson began with 32 for Downside, but the remaining batsmen showed little confidence against the leg-breaks of Hollands (eight for 43).

## Blundell's

T. R. Newell Price run out J. M. Bedford c Lomas b Adamson H. R. Bayly run out D. J. Hollands c McGuire b Berger R. D. Hay c Cummings b Adamson R. J. Russell c Berger b Adamson A. D. W. McLean Ibw b Adamson N. A. Clatworthy c Wylie b Adam-	33       C. M. W. Grose not out       0         36       G. L. Lang c Berger b Adamson.       3         30       B 8, 1-b 2       10         3       0       10
son	145

## Downside

J. A. Cummings st McLean b HollandsT. H. Norman not out22J. M. Nicholson c McLean b HollandsIN. P. Mullany b Hollands0J. J. Adamson b Bedford18D. B. C. Wright b Grose0R. St. J. Jackson st McLean b Hollands10B 22E. A. McGuire b Hollands2110
--

# SHERBORNE v. MARLBOROUGH

At Sherborne, July 8. Drawn. Marlborough collapsed before lunch, but recovered through a fine stand by Thompson and Pinney. Anderton and Smith bowled well and shared the wickets. Sherborne could do little after the fall of the third wicket.

## Marlborough

O. P. Hudson st Horn b Smith 30 R. C. Keightley lbw b Smith 5	M. N. Morgan c and b Anderton 9 W. J. Pinney c Stoughton-Harris
J. A. Kidd st Horn b Smith 3	b Anderton 44
M. F. Pope run out 2	R. A. J. Tracey lbw b Anderton 0
J. M. C. Coates c Lewis b Anderton 1	T
D. W. Hogg lbw b Smith 0	Extras 2
J. M. Dyson c Anderton b Smith. 0	- un the side man at Hered the -
G. W. Thompson not out 48	144

## Public School Cricket in 1950

#### Sherhorne

R. K. Day c Keightley b Kidd 33	K. A. O'Connor lbw b Pinney 8
J. K. Walker b Kidd 8	P. T. I. Smith st Coates b Pinney. 1
D. I. Gillespie b Kidd	T. J. Horn not out 2
T M Anderton Ibw b Pinney 40	P. M. Lewis not out 0
A. G. Stoughton-Harris lbw b	
Dinney	Extras 15
P. A. Elliott b Morgan 0	
I A Blandford-Newson b Tracey 18	Nine wkts. 134

## **MALVERN v. REPTON**

At Malvern, July 21, 22. Drawn. Rain ruined an interesting match at a stage when the advantage was in the balance. Walker ended the Malvern innings by taking four for 11.

n	~	-	L.	2	-	
R	e	D	J	U		

Kepton	
J. F. M. Walker b Gregory	4 - c French b Rust 9
D. H. Popham c Gregory b Rust	$33 - not out \dots 22$
A. C. W. Lewis b Brough	16 — not out 18
I. M. Cropper Ibw b Brough	
A. H. P. Beater b Brough	
A. J. Tombling b Brough	
J. H. Popham run out	
J. B. Buckland lbw b Rust	
R. J. Howling lbw b Rust	
R. L. Grew c Barnie-Adshead b Rust	
M. X. Tranfield not out	0
B 10, 1-b 8	18 B 1 1
2,	
Guine and the second se	133 One wkt. 50
MAN AND AND AND AND AND AND AND AND AND A	one mill ee

#### Malvern

R. H. Chadder lbw b Beater 19	J. O. Rust c Cropper b Walker 18
A. A. Dowdeswell lbw b Howling 2	W. J. T. Ross b Walker 7
R. K. Whiley run out 12	D. French not out 6
D. W. T. Brough c Grew b Lewis. 28	C. M. de S. Summers b Walker 5
A. M. Barnie-Adshead b Lewis 4	B 7, 1-b 5, w 1 13
A. A. Gregory c and b Walker 28	
B. J. C. E. Pegley run out 3	
	APPROPRIATE TRANSPORT

## CHELTENHAM v. CLIFTON

At Cheltenham, July 27, 28. Cheltenham won by three wickets. Bowlers were generally on top in an even game. In the Clifton first innings Mee took eight for 20 with medium-paced out-swingers, and Rees replied with six for 33. Witt and Turner made a splendid effort for Clifton before an admirable innings by Evans put Cheltenham on the path to victory.

## Clifton

C III III I I I I I I I I I I	17 Track Mar	50
C. W. Witt b J. M. Blackburn	17 — c Evans b Mee	50
A. J. Smith c J. M. Blackburn b Mee	40 — b Richards	5
M. P. Learoyd c Bellhouse b Thompson	8 — b Richards	0
R. V. Turner st Evans b Mee	1 — b Thompson	64
R. C. Callinan b Mee	4 — b Thompson	2
M. B. Foyle c Whitehorn b Mee	6 — c Evans b Thompson	
R. P. Rankine b Mee	2 — b Mee	4
J. D. C. Rees b Mee	0 — b Thompson	10
C. G. I. Rose b Mee	3 — c Richards b Thompson	0
J. A. F. M. Moore b Mee	0 not out	0
T. J. Rowberry not out	2 — b Mee	3
Extras	1 Extras	4
	84 1	69
	04	~

# Cheltenham

N. H. Evans b Rees.       18 — b Rose       56         J. R. Nicholson c Rankine b Smith       20 — st Rankine b Callinan       19         D. G. Mee b Rees       2 — b Rose       19         D. M. Richards c Callinan b Smith       12 — lbw b Rose       2         A. Whitehorn not out       16       b Rose       0	Rees
D. G. Mee b Rees	c Rankine b Smith 20 - st Ranking h G ut 56
D M Richards c Callingr h Smith 12 UROSC	ees $2 - b$ Rankine o Callinan 19
	c Callinan b Smith 12 - Ibw b Pass
A. Whitehorn not out	of out $16$ b Smith $\dots$ 0
W. V. Powell b Rees $\dots 10^{-1}$ b Rees $\dots 10^{-1}$ b Rees $\dots 13^{-1}$	Rees $1$ b Date $\dots \dots \dots$
P. H. Blackburn b Rees	h Rees 0 to Rose
P. J. Reynolds b Rees	$0 = not out \dots 11$
J. M. Blackburn b Smith 0	h Smith
Extras 3 Extras 19	3 Extras 19
97 Seven wkts. 157	97 Seven wkts. 157

What did Wisden

say in 18-

If you require a copy of Wisden for any particular year, or if you wish to fill the gaps in your sequence of volumes, you can draw on our reserve stocks. We have a limited supply of previous issues, some of which are of course much scarcer than others. The prices vary from Ten Shillings to Five Guineas according to the number of copies still remaining.

SPORTING HANDBOOKS LTD. 13 Bedford Square, London, W.C.1

